UNIVERSITY GRANTS COMMISSION

PROFORMA FOR SUBMISSION OF INFORMATION BY THE PRIVATE UNIVERSITIES FOR ASCERTAINING THEIR NORMS AND STANDARDS



JK LAKSHMIPAT UNIVERSITY JAIPUR



UNIVERSITY GRANTS COMMISSION BAHADUR SHAH ZAFAR MARG <u>NEW DELHI-110 002</u>

Proforma for submission of information by State Private Universities for ascertaining their norms and standards

A. Legal Status

1.1	Name and Address of the University	JK Lakshmipat University
		Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
1.2.	Headquarters of the University	JK Lakshmipat University
		Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
1.3	Information about University	
	a. Website:	a. <u>www.jklu.edu.in</u>
	b. E-mail:	b. <u>registrar@jklu.edu.in</u>
	c. Phone Nos.:	c. 0141-7107505
	d. Fax Nos.:	d. 0141-7107515
	Information about Authorities of the University	
	a. Ph. (including mobile), Fax Nos. and e-mail of Chancellor	 a. 0141-7107501, 9829089526, 0141-7107516 (F) and vc@jklu.edu.in
	 b. Ph. (including mobile), Fax Nos. and e-mail of Vice Chancellor 	b. 0141-7107501, 9829089526, 0141-7107516 (F) and vc@jklu.edu.in
	c. Ph. (including mobile), Fax Nos. and e-mail of Registrar	 c. 0141-7107505, 9636196844, 0141-7107515 (F) and registrar@jklu.edu.in
	d. Ph. (including mobile), Fax Nos. and e-mail of Finance Officer	 d. 0141-7107506, 9829707013, 0141-7107515 (F) and cfao@jklu.edu.in
1.4	Date of Establishment	September 15, 2011
1.5	Name of the Society / Trust promoting the University (Information may be provided in the following format)	Lakshmipat Singhania Foundation For Higher Learning, Link House, IVth Floor, 3 Bahadur Shah Zafar Marg, New Delhi – 110 002
	(Copy of the registered MoA / Trust Deed to be enclosed)	Copy of Memorandum and Articles of Association is given as Attachment-1

1.6	Composit	ion of the S	Society / Trust		
	Name	Address	Occupation	Designation in the Society / Trust	
	(Details to be provided in Appendix–I)				Details of the Society / Trust is attached as Appendix-I
1.7	Whether the members of the Society/Trust are members in other Societies / Trusts or in the Board of Governors in companies ? If yes, please provide details in the following format:-				
	Name	Address	Occupation	Designation in the Society / Trust	
	(Details to	o be provide	ed in Append i	Details of the Society / Trust is attached as Appendix-II	
1.8	Whether the promoting Society / Trust is involved in promoting / running any other University / Educational Institution ? If yes, please give details in the following format:-				No.
	Name of Universi Educatio	ty / onal	Activities		
	(Details to	o be provide	ed in Append i	i x–III)	
1.9	in promot	ing / runnin al ? If yes,	ng society / tru g activities oth please give de		No.
	Name of Organiza		Activities		
	(Details to	o be provide	ed in Append i	ix–IV)	
1.10	Act and Notification under which established (copy of the Act & Notification to be enclosed)			The JK Lakshmipat University, Jaipur Act, 2011 (Act No. 19 of 2011) (Notification No. F. 2 (23) Vidhi/2/2011) Rajasthan Gazette dated September 15, 2011. (Copy of the Act is given as Attachment-2).	
1.11		the Univers State Act?	ity has been e	established by a	Yes

<u> </u>	rganization Description	
2.1	Whether Unitary in nature (as per the UGC Regulation)	Yes
2.2	Territorial Jurisdiction of the University as per the Act	Rajasthan State
2.3	Details of the constituent units of the University, if any, as mentioned in the Act	Not Applicable
2.4	 Whether any off-campus centre(s) established? yes, please give details of the approval granted by the State Government and UGC in the following format:- a. Place of the off-campus b. Letter No. & date of the approval of State Government c. Letter No. & date of the approval of UGC (Details to be provided in Appendix-V) (Please attach attested copy of the approval) 	Not Applicable
2.5	 Whether any off-shore campus established? If yes, please give details of the approval granted by the Government of India and the host country in the following format:- a. Place of the off-shore campus b. Letter No. & date of the approval of Host Country c. Letter No. & date of the approval of Government of India (Details to be provided in Appendix-VI) 	Not Applicable
2.6	(Please attach attested copy of the approval) Does the University offer a distance education programme? If yes, whether the courses run under distance mode are approved by the competent authority? (Please enclose attested copy of the course-wise approval of competent authority)	No.
2.7	Whether the University has established study centre(s) ? If yes, please provide details and whether these study centres are approved by the competent authority of the University and UGC ?	No.
	(Details to be provided in Appendix – VII) (Please enclose attested copy of the approval from the competent authority)	

C. Academic Activities Description

3. Academic programmes

3.1	Details of the programmes permitted to	Programme	Sanctioned	Actual
0.1	be offered by Gazette Notification of the	i regiannie	Intake	Enrolment
	State Government and its reference.	UG		
		PG		
	(Details to be provided in Appendix-VIII)	Diploma		
		PG Diploma		
		Certificate	Not specifie	d
		course	Not specifie	u
		M.Phil		
		Ph.D.		
		Any other		
		(pl. Specify)		
3.2	Current number of academic	Programme	Sanctioned	Actual
	programmes / courses offered by the		Intake	Enrolment
	University	UG		
	(Details to be provided in Appendix-IX)	B.Tech PG		
		-		
		Diploma PG Diploma		
		Certificate		
		course		
		M.Phil		
		Ph.D.		
		Any other		
		(pl. Specify)		
		Details of Curre		
		programmes/co University are a		
		-	-	-
3.3	Whether approvals of relevant statutory council(s) such as AICTE, BCI, DEC,	Approval of A Councils is no	ot required, in	view of our
	DCI, INC, MCI, NCTE, PCI, etc. have	Institution beir		
	been taken to:	established by		
	a. Start new courses	The J K Lakshi		
	 b. To increase intake If yes please enclose copy of approval 	2011 of State L		ajasthan as a
	and give course-wise details in the	State Private U	niversity.	
	following format:-			
	Name of Statutory Whether			
	the course council approval			
	taken			
	(Details to be provided in Appendix-X)			

3.4	If the University is running courses under distance mode, please provide details about the students enrolled in the following format:-	No.
	Name of Courses No. of the Study offered students Centre enrolled	
	(Details to be provided in Appendix - VII)	
	(Please enclose copy of the course-wise approval of the competent authority)	
3.5	Temporal plan of academic work in the University Semester system / Annual system	Semester System
3.6	Whether the University is running any course which is not specified under Section 22 of the UGC Act, 1956? If yes, please give details in the following format:- a. Name of the course(s) b. Since when started c. Whether the University has applied for permission from UGC?	No.
	(Details to be provided in Appendix - XI)	

4. Student Enrolment and Student Support

4.1 Number of students enrolled in the University for the current academic year according to regions and countries (Please give separate information for main campus and off-campus/off-shore campus)

Particulars		No. of students from the same State Where the University is located	No. of students from other States	No. of NRI students	No. of ov students e NR	xcluding	Grand Total
					Foreign Students	Person of Indian Origin students	
UG	М	56	47	-	-	-	103
	F	13	9	-	-	-	22
	Т	69	56	-	-	-	125
PG	М	2	5	-	-	-	7
	F	1	1	-	_	-	2
	Т	3	6	-	_	-	9
Integrated	М	5	9	-	-	-	14
	F	1	1	-	-	-	2
	Т	6	10	-	-	-	16
M.Phil	М	-	-	-	-	-	-
	F	-	-	-	-	-	-
	Т	-	-	-	-	-	-
Ph.D.	М	10	5	-	-	-	15
	F	4	3	-	-	-	7
	Т	14	8	-	-	-	22
Diploma	М	-	-	-	-	-	-
	F	-	-	-	-	-	-
	T	-	-	-	-	-	-
PG	М	-	-	-	-	-	-
Diploma	F T	-	-	-	-	-	-
	M	-	-	-	-	-	-
Certificate	F	-	-	-	-	-	-
	T	-	-		-	-	-
Any Other	M	-	-	-	-	_	-
(PI.	F	_	_			-	-
(F). Specify)	T	-	-	-	_	-	-

M- Male, F-Female, T-Total

4.2	Category-wise No. of students	Category	Female	Male	Total
		SC	-	1	1
		ST	-	-	-
		OBC	3	23	26
		PH	-	-	-
		General	31	114	145
		Total	34	138	172
4.0					

4.3 Details of the two batches of students admitted

Particulars	Batch 1			Batch 2		
	Year of Entry - Year of Entry-		ntry-			
	UG	PG	Total	UG	PG	Total
No. admitted to the programme	85	21	106	141	9	150
No. of Drop-outs (a) Within four months of Joining	1	1	2	1	1	2
(b) Afterwards	8	2	10	3	-	3
No. appeared for the final year examination	*	15	15	*	*	-
No. passed in the final exam	-	14	14	-	-	-
No. passed in first class	The University is following Grading System					

* Not applicable since the programme is still in progress

4.4	Does the University provide bridge/remedial courses to the educationally disadvantaged students ? If yes, please give details	The University follows Mentoring System
4.5	Does the University provide any financial help to the students from socially disadvangeous group ? If yes, please give details.	Yes, Merit cum Means Scholarship provided to needy students as per details given below: Merit cum Means Scholarships
		Seven merit-cum-means scholarships equivalent to 25% of the tuition fee is awarded to the students, whose parental income is Rs. 3,00,000/- or less per annum and have obtained CGPA of 7.5 and above but less than 8.5 in the programme. In this respect Mr. Deepak Soni, B.Tech Student, Roll No. 2011BTechECE030 was awarded Merit cum Means Scholarship of Rs. 32,500/- during the academic session 2012-13.

4.6	In case the Un programme, w whether these Regulations, 20	hether it is full programmes	University is running only Ph.D. part time and it's run as per UGC Regulations, 2009 on M.Phil/Ph.D		
4.7	Whether the U give website ad regularly update	ddress and wh			<u>www.jklu.edu.in</u> Yes
4.8	How are the pr criteria for adm available, etc.?	hission, rules &			Through University Website and Information Brochure is given as Attachment-3 .
4.17	Whether any available in the details about malpractices, format:-	he University t the comp	ease provide ved against	Yes. No complaints regarding students Enrollment received.	
	Name of the complainant	he against complaint taken by			
	(Details to be p	provided in Ap	pendix-XII)		

5. Curriculum, Teaching Learning Process / Method, Examination / Evaluation System

5.1	Which University body finalized the curriculum? The composition of the body may be given. (Board of Studies, Academic Council, Board of Management)	Academic Council The composition of the Academic Council is given as Attachment-4
5.2	What are the Rules/ regulations/ procedure for revision of the curriculum and when was the curriculum last updated?	The Board of Studies constituted by the Vice Chancellor reviews and recommends the revision of curriculum to the Academic Council. The Academic Council approves the curriculum and the syllabus. The curriculum was last updated in April 2013.
5.3	Whether approval of statutory bodies such as Board of Studies, Academic Council and Board of Management of the University has been taken to start various courses? If yes, please enclose extracts of the minutes.	Yes. Approval was given by Academic Council in its meeting held on September 03, 2013. (Para No. 8 of the Minutes). Minutes of the Academic Council meeting held on September 03, 2012 are given as Attachment - 5 .
5.4	Furnish details of the following aspects of curriculum design:	We have inter/multidisciplinary approach in MBA and B. Tech.
	Innovation such as modular curricula Inter/ multidisciplinary	MBA – Managerial Economics, Business Law and Business Ethics & Corporate Governance.
	approach	B. Tech – Principles of Management, Principles of Economics and Professional Communication Skills. Ph. D. – Modular - 3 Modules

5.5	Has the University conducted an academic audit? If yes, please give details regarding frequency and its usage.	Yes, curricula and syllabi are reviewed annually. The final results are also reviewed for identifying the anomalies.
5.6	Apart from classroom instruction, what are the other avenues of learning provided for the students? (Example: Projects, Internships, Field trainings, Seminars, etc.)	Projects, Internships, Field trainings, Seminars, Summer Training, Industrial Visits etc. are the other avenues of learning provided for the students.
5.7	Please provide details of the examination system (Whether examination based or practical based)	 Theory and project based for Institute of Management. Theory and practical based for Institute of Engineering and Technology.
5.8	What methods of evaluation of answer scripts does the University follow? Whether external experts are invited for evaluation?	Internal Evaluation
5.9	Mention the number of malpractice cases reported during the last 3 years and how they are dealt with.	7 cases. Disciplinary action in-terms of warning to the students and cancellation of result was awarded to the involved students.
5.10	Does the University have a continuous internal evaluation system ?	Yes.
5.12	How are the question papers set to ensure the achievement of the course objectives ?	University follows IIM pattern in the case of Institute of Management and IIT pattern in the case of Institute of Engineering and Technology for the examination. The examiner submits 3 sets of question papers confidentially and one of them is chosen for the End-Term Examination before opening the envelops.
5.13	State the policy of the University for the constitution of board of question paper setters, board of	University follows IIM pattern in the case of Institute of Management and IIT pattern in the case of Institute of Engineering and Technology for the examination.
	examiners and invigilators.	The Examination Committee as approved by the Vice Chancellor is headed by the Director of the respective Institute and is responsible to oversee the administration of various Examinations and ensure the conduct of the Examination smoothly.
5.14	How regular and time-bound are	
	conduct of examinations and announcement of results? Substantiate with details of dates	Year Date of exams Date of announcement of results
	of examinations and announcement of results for the last 3 years. Details to be provided in the following format:-	Dec. 2011 IM IM (Sem-I) (MBA) (MBA) 01.12.2011 18.12.2011
	Year Date of Date of exams announcement of results	IET IET (B.Tech & (B.Tech & M.Tech) M.Tech) 18.12.2011 01.12.2011

April - May, 2012 (Sem-II)	IM (MBA) 20.04.2012 IET (B.Tech & M.Tech) 02.05.2012	IM (MBA) 08.05.2012 IET (B.Tech & M.Tech) 28.05.2012
Dec. 2012 (Sem. I & III)	IM (MBA(I)-I, MBA-I,III) 29.11.2012	IM (MBA(I)-I) 14.12.2012 MBA-I,III) 17.12.2012
	IET (B.Tech-I, III B.Tech+MBA-I) 30.11.2012 (M.Tech-I) 01.12.2012 (M.Tech-III) 06.12.2012	IET (B.Tech-I, III, B.Tech+MBA-I, M.Tech-I, III) 07.01.2013

D. Admission Process

6.1	How are students selected for admission to various courses? Please provide faculty-wise information				Faculty-wise/Institute-wise information is given as Attachment - 6 .			
	a. Thro b. Thro c. Thro d. Thro							
	Please also to the above		ails about the we	eightage give				
6.2	national lev test? If yes,	vel entrance please prov	y is admitting test or state ide following de of % of	level entrance	Name of the National /state level entrance exam	No. of students admitted		Remarks
	Name o the National	admitted	of % of students from the	Remarks	UGET/AIMA JKLU-IMBAT	7	2.73%	-
	/state leve entrance exam	1	total admitted		CAT/ MAT/ ATMA/ XAT/ CMAT/	17	6.64%	
					JKLU-MET	8	3.12%	
					AIEEE(Main)/ RPET/ MHT-CET/ MPPET/ SRMU/ UPSEE/ JEE(Main)/	206	80.47%	
					JKLU-EET	13	5.08%	
					GATE	2	0.78% 1.17%	
					JKLU-PGEET	3	1.1770	
					Admission v based on in Marks.			•
6.3			ocedure is avain the prospectus		Yes			
6.4	Please pro		or the eligibi		Details is give	en as A t	ttachmen	t – 7
6.5	Whether U	niversity is	providing any ? If yes, please		Yes, as per e		policy.	
		ring format:-	. ii yes, piease	Provide details		dents pro	of quota R ovided for servation	Remarks
	Category	students p admitted r		ota Remarks for ind in		and pre in r of a en	d eparation respect actual rolment	
		r	espect of act enrolment	ual	ST	4 0 55	15% 7.5% 27%	-

6.6	Whether any admission in the details in the following the second	ne University?	No.		
	Total No. No. or of Seats total (Course- wise) admitte	students admitted	% of students Admitted under management quota		
6.7	7 What is the admission policy of the University with regard to NRI and overseas students?			The candidates with GMAT/GRE Score are considered for admission in Post Graduate programmes.	
					Foreign Nationals/Persons of Indian Origin/Non-Resident Indian candidates are considered for admission in Under Graduate programmes on the basis of their marks in 10+2 or equivalent examination only.

E. Fee Structure

<u>е. гее</u>	Structure	
7.1	Present Course-wise fee structure of the University (Please provide head-wise details of total fee charged)	Present Programme-wise fee structure is given as Attachment – 8
7.2	Any other fee charged by the University other than the fee displayed in the UGC website (e.g. Building Fee, Development Fee, Fee by any name, etc.)	No.
7.3	Whether fee structure is available on the University website and in the prospectus?	Yes.
7.4	Whether fee is charged by the University as per fee structure displayed in the University website and in the prospects or some hidden charges are there?	Yes. There are no hidden charges.
7.5	Mode of Fee collection	Demand Draft /Cheque/Cash
7.6	Whether University is providing any concession in fee to students? If yes please provide details.	No.

7.7	Details of the Hostel Fee including mess charges	Hostel Fee is Rs. 45000/- per annum Mess Fee is Rs. 42000/- per annum
7.8	Any other fee	No.
7.9	Basis of Fee Structure	As per facilities provided.
7.10	Whether the University has received any complaint with regard to fee charged or fee structure? If yes please give details about the action taken.	No.
7.11	Whether University is providing any scholarship to students? If yes, please provide details.	Yes. Merit Scholarships Second year Onwards - Top 10% of the students, who have obtained CGPA of 9.5 and above in the programme will be awarded scholarship equivalent to 75% of the tuition fee. Next 10% of the students, who have obtained CGPA of 8.5 and above but less than 9.5 in the programme will be awarded scholarship equivalent to 50% of the tuition fee. Merit cum Means Scholarships Seven merit-cum-means scholarships equivalent to 25% of the tuition fee will be awarded to the students, whose parental income is Rs. 3,00,000/- or less per annum and have obtained CGPA of 7.5 and above but less than 8.5 in the programme.

F. Faculty;

8.1	Total no. of Sanctioned and filled up posts (Institution-wise and		Dept.	Pro	ofess	sor		ssoci rofes		Assistar Professo			
		artment-wise				Sanctio	oned	Filled	Sanctic	ned	Filled	Sanctioned	Filled
					IM	2		2	4		4	2	2
					IET	1		1	5		5	12	12
8.2	and	ils of teachi Department ails to be pro	-wise)		-	ormat ((Plea	ase pr	ovideo	d dei	tails – Iı	nstitution-\	wise
Dept	Name of the Teach er	Designation	Age	Education al Qualificati ons (whether qualified as per UGC Regulation	Teachii Experiei in ye	ng nce	Date	e of intment	Whe r ful time Part time	e or	Regular or adhoc	Scale of Pay	No. of publ icati ons
])	Details is at	tached	as Ap	pen	dix-X	III)				
8.3	Cate	gory-wise	No. c	of	Cate	egory	F	emal	е	Ма	le	Total	
		hing Staff			SC			-			2	2	
					ST			-			1	1	
					OBC PH			-			-	-	
					Gene	eral		- 6			- 17	23	
					Total			6			20	26	

8.4 Details of the permanent and temporary faculty members in the following format

Particulars	Female	Male	Total
Total no. of permanent teachers	6	20	26
No. of teachers with Ph.D. as the highest qualification	6	11	17
No. of teachers with M.Phil as the highest qualification	-	-	-
No. of teachers with PG as the highest qualification	-	9	9
Total no. of temporary teachers	-	-	-
No. of teachers with Ph.D. as the highest qualification	-	-	-

No. of qualifi	teachers with M.Phil as the highest cation	-	-	-		
No. of qualifi	teachers with PG as the highest cation	-	-	-		
	no. of part-time teachers	-	-	-		
No. of qualifi	teachers with Ph.D. as the highest	-	-	-		
	teachers with M.Phil as the highest	-	-	-		
	teachers with PG as the highest	-	-	-		
	No. of visiting teachers	1	3	4		
8.5	Ratio of full-time teachers to part-time/contract teachers	Full-time	faculty 26 :	part-time faculty 0		
8.6	Process of recruitment of faculty -Whether advertised? (pl. attach copy of the ad) -Whether selection committee was constituted as per the UGC Regulation?	Yes (Recruitment advertisement appearing in The Times of India dated March 13, 2013 copy is given as Attachment – 9). Yes				
8.7	Does the University follow self-appraisal method to evaluate teachers on teaching, research and work satisfaction? If yes, how is the self-appraisal of teachers analysed and used? Whether:- Self Appraisal Evaluation Peer Review	Yes. Faculty Appraisal: The appraisal is evaluated by the reporting officer & reviewing officer. Feedback and observation are directly given to the concerned faculty to facilitate him/her to improve in weak areas.				
	Students evaluation Others (specify)	to improve in weak areas. Students' evaluation about each course taught is taken. The overall perception is computed qualitatively and results are communicated to each faculty under confidential cover. The students are not required to disclose their name while filling the evaluation form pertaining to the faculty. Here, again the faculty members are taken into confidence for improvement in weak areas.				
		and Stu		If Appraisal Evaluation Iluation are given as		
8.8	Institution-wise and Department-wise teacher student ratio (only full time faculty)	Institute of Management: 1:3.86 (Faculty 7 : Student 27) Institute of Engineering and Technology:				
	Whether the University is providing UGC Pay Scales to the Permanent Faculty?			Student 211)		
8.9	If yes, please provide the following details:-	Yes.				
	Scale of Pay with all the allowances					

	Drefessor	Post	Pay Band	Basic in Pay Band	Academic Grade Pay		
	Professor –	Professor	37400-67000	48000	12,000		
	Associate Prof.	FIDIESSOF	3/400-0/000	43000	10000		
	Assistant Prof. –	Assoc. Professor	37400-67000	37400	9000		
		Asstt.		15600	8000		
		Professor	15600-39100	15600	7000		
	Mode of Payment – (Cash/Cheque)			15600	6000		
		Mode of F through B	Payment – Sala ank A/c	ary transfe	erred		
	Pay/Remuneration provided to:-			oniumo of F	1000/		
8.10) Part-Time Faculty – Temporary Faculty- Guest Faculty –	Rs. 850/-, Theory, T	Visiting Faculty: Honorarium of Rs. 1000/-, Rs. 850/-, and 800/- per hour in the case of Theory, Tutorial, and Lab classes besides conveyance allowance @ Rs. 350/- per visit.				
	Facilities for teaching staff (Please provident details about Residence, Rooms, Cubica		I facility has the Campus,	been pro	ovided for		
8.11	Computers/Any other)	Each Fa	aculty is p nt Cubical/Cha		with an		
			is given to ea back even Institute,				
		Allowance meeting e subscribin	culty is giv of Rs. 100 xpenditure on g for Resea nemselves in v	000/- per purchasii Irch Jour	year for ng books, nals and		
		per year to	Ity is provide attend Natior es for presention	nal and Int	ernational		
G.	Infrastructure						
9.1	Does the University have sufficient space for Land & Building?	Yes, University has 30 Acres of land situated at Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur. Supporting land document is given as Attachment – 11. Details of Buildings is given as Attachment – 12 .					
9.2	Does the University have sufficient class rooms?	Yes. There are 8 class rooms available in Institute of Management and 14 class rooms in Institute of Engineering and Technology.					
9.3	Laboratories & Equipment		iven as Apper)J·		
	(Details to be provided in Appendix-XIV and Appendix-XV)			MIV-VI A			
a)	Item Description (make and model)						
b)	Location (Department)						
c)	Value (Rs.)						
d)	Present Condition						
e)	Date of Purchase						

9.4	Library	Details are attached as Annandix XV
a)	Total Space (all Kinds)	Details are attached as Appendix-XV
b)	Computer / Communication facilities	
c)	Total no. of Ref. Books (Each Department)	
d)	All Research Journals subscribed on	
	regular basis	
9.5	Sports Facilities (Details to be provided in Appendix-XVI)	Details are attached as Appendix-XVI
a)	Open Play Ground(s) for outdoor sports	
	(Athletics, Football, Hockey, Cricket, etc.)	
b)	Track for Athletics	
C)	Basketball courts	
d)	Squash / Tennis Courts	
e)	Swimming Pool (Size)	
f)	Indoor Sports Facilities including	
	Gymnasium	
g)	Any other	
9.6	Does the University has provision for	(a) Faculty / Staff Flats
	Residential Accommodation including hostels (boys & girls separately)	 The University has provided well-constructed and semi-furnished flats for the residential accommodation of the faculty and staff members on the campus. (b) Student Hostels Separate fully-furnished hostel facilities are available for boys and girls on the campus.

H. Financial Viability

10.1	Details of the Corpus Fund created by the University Amount – FDR No. Date –	Pers	,00,000/- onal De ember 10	eposit A/c No.	1036 dated
	Period - (Documentary evidence to be given)	date		ernment Treasury nber 16, 2010 is g – 13	-
10.2	Financial position of the University (please provide audited income and	S.No	Year	Income	Expenditure
10.2	expenditure statement for the last 3 years)	1	2011-12 (April - March		Rs. 589.43 Lacs
10.3	Source of finance and quantum of funds available for running the University (for last audited year) Fees – Donations- Loan – Interest- Any other (pl. Specify)-	Nil	233.72 La 118.59 La	acs acs (From Spons	oring body)

r		
	What is the University's 'unit cost' of education?	Rs. 4,75,347/- (Total Annual Exp.)
10.4	(Unit cost = total annual expenditure (budget accruals) divided by the number of students enrolled) Unit cost calculated excluding the salary component may also be given.	Rs. 3,32,290/- (Annual Exp. excluding Salary & Wages component)
I.	Governance System	
11.	Organization, Governance and Managemer	nt
11.1	Composition of the statutory bodies of th University (please give names, profession & full postal address of the members and date of constitution):-	
	Governing Board: Not applicable	
	Executive Council: Not applicable	
	Board of Management: Details attached	
	Academic Council: Details attached	
	Finance Committee: Details attached	
	Board of Studies: Details attached	
	Others: Nil (Details to be provided in Appendix-XVII)	
11.2	Dates of the meetings of the above bodies held during the last 2 years (Enclose attested copy of the minutes	Board of Management 24/03/2011 20/07/2012
	meetings)	s 18/12/2012 Academic Council
		03/09/2012
		20/04/2013
		Board of Studies 06/04/2013
		Attested copy of the Minutes of the
		Meetings are given as Attachment -14(A) to 14(G)
11.3	What percentage of the members of the Boards of Studies, or such other academic committees, are external? Enclose the	Board of Studies-IM- 50% (External) Board of Studies-IET-47% (External)
	committees, are external? Enclose the guidelines for BoS or such other Committees	 5. The basic responsibilities of the Board of Studies shall be: (1) To review periodically the curricula and syllabi. (2) To suggest changes/ additions/deletions in the curricula and syllabi. (3) To suggest new Programmes/ Courses.

		 (4) The discipline-wise Board of Studies reviews and suggests revision in the respective programmes from time to time. The recommendations of the Board of Studies shall be forwarded to the Academic Council for consideration and approval.
11.4	Are there other strategies to review academic programmes besides the academic council?If yes, give details about what, when and how often are such reviews made?	Yes. The University invites experts from time to time and incorporates their suggestions that are found suitable and are approved by the competent authority.
		All academic matters are deliberated upon in the meetings of Boards of Studies and finally approved by the Academic Council.
		The University maintains a close interface with the Industry to bridge the gap between the expectations of the Industry and the academic offerings of the University.

J. Research Profile

12.1	Faculty-wise and Department-wise information to be provided in respect of the	
	following:-	
	Student Teacher Ratio:	1:9.15 (Faculty-26, Student-238)
	Class Rooms:	IM - 8 Nos. and IET - 14 Nos.
	Teaching labs:	IET – 16 Nos.
	Research labs (Major Equipments):	Nil
	Research Scholars (M.Tech, Ph.D., Post	39 Nos.
	Doctoral Scholars)	
	Publications in last 3 years (Year-wise	Details of publications are given as
	list):	Attachment – 15
	No. of Books Published:	Details of Books published are given
		as Attachment – 16
	Patents:	Nil
	Transfer of Technology:	Nil
	Inter-departmental Research	Inter-disciplinary research is
	(Inter-disciplinary):	encouraged.
	Consultancy:	Management Development Centre
	Externally funded Research Projects:	Yes, UK India Education and Research
		Initiative (UKIERI).
		Programme Title: "UK-India SME
		Knowledge Initiative"
	Educational Programmes Arranged:	Details of FDPs & MDPs are given as
		Attachment – 17

K. Misc.

13. Details of Non-Teaching Staff

13.1 Details of Non-Teaching Staff

Name	Designation	Age	Qualification	Scale of Pay	Date of Appointment	Trained Yes/No If yes, Details
------	-------------	-----	---------------	-----------------	------------------------	---

(Details of Non-Teaching staff are attached as Appendix-XVIII)

	Summary of the Non-Teaching	Particula	ars	Fem	ale	Male	Total
13.2	Staff	Administrativ Staff	ve				
		Group A Group B Group C Group D	1 2			7 8 5 4	7 9 7 4
		Technical St	aff				
		Group A Group B Group C Group D			1 2 7		1 2 7
		Grand Total		3		34	37
			-				T . (.)
	No. of Non-teaching staff category wise	Category	Fema	ale	Ma	le	Total
13.3		SC	-			-	-
		ST	-			1	1
		OBC	1			11	12
		PH	-			-	-
		General	2			22	24
		Total	3	3		34	37
13.4	Ratio of Non-teaching staff to students	1:6.43 (Non-teaching staff 37 : students 238)					nts 238)
13.5	Ratio of Non-teaching staff to faculty	1.42:1 (Non	i-teach	ing sta	aff 3 ⁻	7 : facu	lty 26)

14. Academic Results

14.1			nd course-wis Its of the pas		S. No	Course	No.of Candidates appeared	Result
14.1	S. no	Course	No.of Candidates appeared	Result	1	MBA (Full-Time Residential)	15	14
			appeared					

15. Accreditation

15.1	Whether Accredited by NAAC? If yes please provide the following details: Date of Accreditation Period Grade CGPA Grading System Followed	No.
15.2	Whether courses are accredited by NBA? If yes please provide course-wise details as under: S.No. Course Whether Accredited	No.
15.3	Other Accreditations, if any	University has been accredited by International Accreditation Organization (IAO), Houston, USA for complying with the standards and criteria established by International Accreditation Organisation.
15.4	Any other information (including special achievements by the University which may be relevant for the University)	 Institute of Management, JKLU awarded with the "Best Emerging Business School, Rajasthan" award by South Asian Academy Awards 2013. Dr. Upinder Dhar, Vice Chancellor was on the International Jury for the ISB-Ivey Case Competition held during the 22nd, 23rd and 24th AIMS Annual Management Education Convention in 2010, 2011 and 2012. JKLU awarded with the 'Best Upcoming Private University in Rajasthan' award by Times Research Media in 2012. JKLU has been ranked 18th in the Top 20 Private Universities in India survey conducted by SiliconIndia Education, Bangalore in 2013. The Jury Choice Award was awarded
		 The July Choice Award was awarded during Engineering watch EDUPRENEURS AWARDS 2013 to Dr. Upinder Dhar for being an Institution Builder Par Excellence by establishing Institute of Engineering and Technology at JK Lakshmipat University.

16. Strengths and Weaknesses of the University

16.1 Strengths of the University:

- Qualified Faculty with background / experience of IIMs and IITs in the case of Management and Engineering disciplines respectively.
- World class Infrastructure.
- **Modern curriculum and teaching methodologies** matching Global Standards with strong emphasis on not just 'learning' but 'understanding', and learning by doing.
- **Highly experienced full-time/visiting faculty** for all courses drawn from leading Engineering and Technology Institutes from across the country and abroad.
- **JKLU Mentoring Programme** A unique one-on-one student mentoring programme for all-round personality development.
- **Strong Industry Linkages** To impart rich hands-on experience with leading corporate and excellent placement linkages.
- Research & Consultancy The cutting edge research & consultancy centre.
- World Class Library A multi-level dynamic resource hub spread over 2000 Sq. Meters.
- State-of-the-art IT Infrastructure with a complete Wi-Fi enabled campus.
- Interactive learning from foreign resources through Video Conferencing.
- Large Amphi-theatre type classrooms.
- Facilities for extensive sports, recreation, team building and soft skills.
- Modern Hostel facilities with a shopping arcade.
- Student Activities Centre for all the student activities.
- 16.2 Weaknesses of the University:
 - Distance from the city.
 - Lack of Public Transport facility.

Certificate

This is to certify that all the information provided above is true to the best of my knowledge and belief. The University will adhere to the rules, regulations and guidelines of the UGC, Central Government and relevant Statutory Council(s) and abide by all the provisions under the UGC Regulation.

The above information is also posted on the website of the University www.jklu.edu.in

Signed and Sealed by the Head of the Institution.

(Dr. Upinder Dhar) Vice Chancellor

University Grants Commission

<u>Appendix-I</u>

Composition of the Society/Trust Promoting the University

S. No.	Name	Address	Occupation	Designation in the Society/Trust
1.	Shri Lajpat Rai Puri	Bungalow No. 7, Block-D, Saket, New Delhi – 110017	Service	Member, Managing Committee
2.	Shri Surendra Malhotra	1-A-1, Girdhar Apartments, 28, Feroz Shah Road, New Delhi - 110001	Service	Member, Managing Committee
3.	Shri Deep Chandra Jain	116 Jasola Vihar, Pocket-I, New Delhi – 110025	Service	Member, Managing Committee
4.	Shri Prem Shankar Sharma	37, Gujarat Vihar, Vikar Marg, New Delh- 110092	Service	Member, ManagingCommittee
5.	Shri Upendra Kumar Gupta	108 Pocket II, Sector- 19, Dwarka, New Delhi – 110075	Service	Member, Managing Committee

University Grants Commission

<u>Appendix-II</u>

<u>Memberships in other Societies/Trusts and Directorships in Companies of the members</u> of Managing Committee

S. No.	Name	Address	Occupation	Designation in the Society/Trust
1.	Shri Lajpat Rai Puri	Bungalow No. 7, Block-D, Saket, New Delhi – 110017	Service	Director 1.Fenner (India) Ltd. 2. Bengal & Assam Company Ltd. 3. Param Shubham Vanijya Ltd. 4. Sago Trading Ltd. 5. Panchmahal Properties Ltd. 6.Hansdeep Industries & Trading Company Ltd. 7. J.K. Risk Managers & Insurance Brokers Ltd. 8. Accurate Finman Services Ltd. 9. BMF Investments Ltd. 10. LVP Foods Private Ltd. Member- Managing Committee 1. Lakshmipat Singhania Medical Foundation
2.	Shri Surendra Malhotra	1-A-1, Girdhar Apartments, 28, Feroz Shah Road, New Delhi - 110001		Director 1. Fenner (India) Ltd. 2. Param Shubham Vanijya Ltd. 3. J.K. Risk Managers & Insurance Brokers Ltd. 4. Insurance Brokers Association of India 5. Juggilal Kamlapat Udyog Ltd. 6. J.K. Credit & Finance Ltd. 7. Global Strategic Technologies Ltd. Member- Managing Committee 1.Lakshmipat Singhania Education Foundation

3.	Shri Deep Chandra Jain	116 JasolaVihar, Pocket-I, New Delhi – 110025	Service	Director 1. Rouncy Trading Private Ltd. Member- Managing Committee 1.Lakshmipat Singhania Education Foundation 2. Lakshmipat Singhania Medical Foundation
4.	Shri Prem Shankar Sharma	37, Gujarat Vihar, VikarMarg, New Delh- 110092	Service	Director1. Pranav Investment (M.P.)Company Ltd.2. Accurate Finman Services Ltd.3. J.K. Enviro-Tech Ltd.4. Crossbow Investments Pvt. Ltd.5. Songadh Infrastructure &Housing Ltd.6. Bhopal Udyog Ltd.7. HSS Stock Holdings Pvt. Ltd. Member- Managing Committee 1.Lakshmipat Singhania EducationFoundation2. Lakshmipat Singhania MedicalFoundationVeena Devi Singhania Trust,Hony. Secretary

5.	Shri Upendra Kumar Gupta	108 Pocket II, Sector- 19, Dwarka, New Delhi – 110075	Service	 Director Accurate Finman Services Ltd. J.K. Credit & Finance Ltd. J.K. Enviro-Tech Ltd. Akhand Investments Pvt. Ltd. R P S Securities Pvt. Ltd.
				 6. Vinita Stockholdings Pvt. Ltd. 7. Anant Design Pvt. Ltd. 8. L V P Foods Private Ltd. 9. Dhanlakshmi Building Development Pvt. Ltd. 10. Elate Builders Pvt. Ltd. 11. Param Subham Vanijya Ltd. 12. Bhopal Udyog Ltd.
				 13. Oakwood Properties & Farms Pvt. Ltd. 14. Jaykaypur Infrastructure & Housing Ltd. 15. Divyashree Company Pvt. Ltd.
				Member- Managing Committee 1.Lakshmipat Singhania Education Foundation 2. Lakshmipat Singhania Medical Foundation
				<u>Trust</u> JK Trust, Calcutta, Hony. Secretary

University Grants Commission

<u>Appendix-IX</u>

Information about the programmes now offered

S.No.	Programme	Sanctioned Intake	Actual enrolment
	UG		
1.	 B.Tech (Chemical Engineering) B.Tech (Civil Engineering) B.Tech (Computer Science Engineering) B. Tech (Electrical Engineering) B.Tech (Electronics & Communication Engineering) B. Tech (Information Technology) B. Tech (Mechanical Engineering) 	70 70 70 70 70 70 70 70	8 24 32 8 16 - 37
	PG		
2.	MBA (Full-Time Residential) MBA (Family Business and Enterpreneurship) MEA (Master of Educational Administration) M. Tech (Computer Science Engineering) M. Tech (Electronics & Communication Engineering)	140 70 70 20 20	7 - - 1 1
	Integrated		
3.	BBA+MBA (5 Years - Integrated Dual Degree) B. Tech + MBA (5 Years - Integrated Dual Degree)	70 70	7 9
4.	Diploma	-	-
5.	PG Diploma	-	-
6.	Certificate course	-	-
7.	M.Phil	-	-
8.	Ph.D.	-	22
9.	Any other (pl. Specify)	-	-

JK LAKSHMIPAT UNIVERSITY JAIPUR University Grants Commission

Appendix-XIII

Information about of Teaching Staff of the University

S. No.	Name of the Department	Name of the Teacher	Designati on	Age	Educational Qualification (whether qualified as per UGC regulations)	Teaching experien ce in years	Date of appoint ment	Whether full-time/ part-time	Regular / adhoc	Scale of pay	No. of Publi catio ns
1.	University	Dr. Upinder Dhar	Vice Chancellor	57	Ph.D.(1983)	35	15/04/2009	Full Time	Regular	1.05 Lakhs	525
		2.101			Institute of Man	agement	I				1
2.	IM	Dr.Santosh Dhar	Professor	56	Ph. D. (1989)	33	05/05/2011	Full Time	Regular	(37400-67000 AGP 12000)	210
3.	16/	Dr.Ashwini Sharma	Associate Professor	38	MBA (2000) MCA (2009) Ph.D (2012)	13	01/07/2010	Full Time	Regular	(37400-67000 AGP 9000)	26
4.	IM	Dr.Ashu Sharma	Associate Professor	38	NET (2003) Ph.D. (2009)	13	21/07/2010	Full Time	Regular	(37400-67000 AGP 9000)	26
5.	IM	Dr.Amit Jain	Associate Professor	35	Ph.D. (2008)	11	19/08/2010	Full Time	Regular	(37400-67000 AGP 9000)	32
6.	IM	Dr.Kapil Arora	Associate Professor	40	Ph.D.(2003)	14.6	01/07/2012	Full Time	Regular	(37400-67000 AGP 9000)	85
7.	IM	Dr.Upasana Singh	Assistant Professor	36	Ph.D. (2010)	2.5	15/07/2011	Full Time	Regular	(15600-39100 AGP 6000)	02
8.		Dr.Sheetal Mundra	Assistant Professor	38	Ph.D.(2005)	5.3	16/07/2012	Full Time	Regular	(15600-39100 AGP 7000)	11
				Instit	ute of Engineering	and Techno	logy				
9.	IET	Dr. B.V. Babu	Director	51	Ph.D(1994)	28	26/02/2011	Full Time	Regular	83,000/-	220
10.		Dr.Sandeep Kumar Tomar	Associate Professor	36	Ph.D(2007)	13.9	06/04/2011	Full Time	Regular	(37400-67000 AGP 9000)	10
11.	IET	Dr.Kanad Ray	Associate Professor	44	Ph.D(2001)	14.8	16/05/2011	Full Time	Regular	(37400-67000 AGP 9000)	24
12.		Dr.Vipin Kumar Jain	Associate Professor	34	Ph.D(2011)	12	11/06/2011	Full Time	Regular	(37400-67000 AGP 9000)	26
13.	IET	Dr.Sanjay Kumar	Associate Professor	46	Ph.D(1997)	20	15/06/2011	Full Time	Regular	(37400-67000 AGP 9000)	53
14.	IET	Dr.Sonal Jain	Associate Professor	35	Ph.D (2011)	13	25/08/2012	Full Time	Regular	(37400-67000 AGP 9000)	29
15.		Dr.Mohd. Shahnawaz Khan	Assistant Professor	33	Ph.D (2010)	8	02/05/2011	Full Time	Regular	(15600-39100 AGP 6000)	37
16.	IET	Devendra Bhavsar	Assistant Professor	27	M.Tech(2008)	4.5	13/05/2011	Full Time	Regular	(15600-39100 AGP 6000)	NA
17.	IET	Jagdish Prasad Sharma	Assistant Professor	34	M.Tech(2004)	3.7	30/05/2011	Full Time	Regular	(15600-39100 AGP 7000)	01
18.	IET	Love Jain	Assistant Professor	28	M.Tech(2010)	2.6	06/06/2011	Full Time	Regular	(15600-39100 AGP 6000)	02
19.	IET	Ravindra Meena	Assistant Professor	29	M.Tech (2009)	3	07/06/2011	Full Time	Regular	(15600-39100 AGP 6000)	NA
20.	IET	Dr. Umesh Gupta	Assistant Professor	34	Ph.D (2009)	12	15/06/2011	Full Time	Regular	(15600-39100 AGP 8000)	18
21.		Alok Kumar Agrawal	Assistant Professor	26	M.Tech(2010)	3	25/06/2011	Full Time	Regular	(15600-39100 AGP 6000)	01
22.	IET	Rajesh Kumar Dohare	Assistant Professor	27	M.Tech(2010)	2.5	15/07/2011	Full Time	Regular	(15600-39100 AGP 6000)	NA
23.	IET	Dr.Ritu Agarwal	Assistant Professor	32	Ph.D. (2006)	9	01/08/2011	Full Time	Regular	(15600-39100 AGP 7000)	26
24.	IET	Kapender Phogat	Assistant Professor	30	M.Tech (2010)	7.5	10/08/2011	Full Time	Regular	(15600-39100 AGP 7000)	02
25.	IET	Divanshu Jain	Assistant Professor	27	M.Tech (2011)	1	21/08/2012	Full Time	Regular	(15600-39100 AGP 6000)	NA
26.	IET	Anil Kumar	Assistant Professor	33	M.Tech (2009)	7	24/09/2012	Full Time	Regular	(15600-39100 AGP 6000)	NA

University Grants Commission

Appendix-XIV

Information about the Equipment

COMPUTER LABS

S.No.	Item description	Make	Location Department Value (in Rs.		Present Condition	Date of Purchase
1.	50 PCs	HP	Academic Blocks & Administration	1873551	working	4.9.2010
2.	31 PCs	HP	Multimedia Lab of IET	847350	working	30.7.2011
3.	31 PCs	HP	C++ Programming Lab of IET	847350	working	30.7.2011
4.	12 PCs	HP	Research LAB	409563	Working	21.09.2013
5.	32 PCs	HP	Computer Center	1092160	Working	21.09.2013
6.	24 PCs	HP	IET LAB 2	819120	Working	21.09.2013
7.	30PCs	HP	OOPs LAB	1023900	Working	21.09.2013
8.	34Laptop	HP	Faculty (IM, IET and others staff)	1653077	working	4.09.2010 (5) 12.03.2011 (5) 3.6.2011 (10) 30.7.2011(6) 29.03.2012(2) 31.07.2012(5) 06.02.2013(1)
9.	34 Wi-Fi access points and controller	RUCKUS	Campus	800000	working	17.10.2011 21.10.2011
10.	Server - 1	HP	Server Room	230564	working	4.9.2010
11.	Server - 2	IBM	Server Room	160000	working	4.9.2010
12.	Fiber and LAN equipments	IBM	Campus	4346697	working	28.6.2011
13.	UTM & Firewall	Fortigate 200 B	Server Room	341250	working	1.9.2011
14.	UPS 1KVA (7)	EMERSON	Campus	35749	Working	9.03.2012 (5) 19.09.2012 (2)
15.	UPS 3KVA (1)	EMERSON	Campus	42000	Working	03.04.2012
16.	UPS 6KVA (2)	EMERSON	Campus	255399	Working	09.03.2012 19.09.2012
17.	UPS 20KVA (2)	EMERSON	Campus	511674	Working	034.2012 19.09.2012
18.	UPS 10 KVA (1)	EMERSON	Campus	115500	Working	09.03.2012
19.	UPS 6 KVA	APC	Campus	45675	working	4.9.2010
20.	Document Camera	EMO	Campus	79988	working	20.02.2013

21.	UPS 625 VA UPS 600 VA	Microtech	Campus	8000	working	19.1.2011
22.	Photo Copier- 01	Canon	Campus	55000	working	3.1.2011
23.	Printers & MFP- 09	HP	Campus	165248	working	2.06.11/03.06. 11/ 11.05.11/20.5. 11/ 19.11.10/21.7. 11 /11.10.11
24.	Projectors -21	Sanyo=14 Mitsubishi=1 Panasonic=6	Campus	424422 313,956	working	19.7.2011 31.07.2012
25.	D-Link Access Points 6	D-Link	Campus	99540	working	19.1.2011
26.	Video Conferencing System	Essem icube	Campus	1194140	working	21.4.2011
27.	Collar Microphone-2 Nos. & Speaker -2 Nos.	Studio master	Campus 11856		working	17.12.2011
28.	Software (No.10)	(No.10) SPSS Campus		184194	working	27.1.2011
29.	Anti-Virus (No.270)	Quick Heal	Campus	103824	working	24.8.2011
30.	Software (No.35)	Autocad 2012 & Civel 3D	Campus	887218	working	4.10.2011
31.	Software	Microsoft Softwares with campus agreement	Campus	354703	working	9.8.2011 27.3.2012
32.	Software (No.70)			Gifted by Korea Database Society	working	28.12.2011
33.	Language Lab	Oreally Labs	Campus	202500	working	14.12.2011
34.	Biometric Reader	pegasus	Campus	13500	working	08.08.2012
35.	Microsoft IT Acadmy	Annuak Membership	Campus	73500	working	28.03.2013
36.	15 Mbps OFC Wan Setup	Vodaphone	Campus	600000	working	18.09.2012
37.	2 Mbps Backup ILL Link	Airtel	Campus	125000	working	04.04.2013

CHEMISTRY LAB

S.No.	Item description	Make	Location Department	Value (in Rs.)	Present Condition	Date of Purchase
1.	Bomb Calorimeter Apparatus- 01 No	Aditya	CHEMISTRY LAB, IET	38250	working	21.06.2011
2.	Cloud & Pour Point Apparatus-15 Nos.	Aditya	CHEMISTRY LAB, IET	2210	working	21.06.2011
3.	Digital Balance (0.001 gm)- 02 No.	Citizen	CHEMISTRY LAB, IET	18700	working	21.06.2011
4.	Digital Conductivity Meter – 15 Nos.	EI	CHEMISTRY LAB, IET	4987	working	21.06.2011
5.	Conductivity cell(Cel constant-1.0) – 10 Nos.	EI	CHEMISTRY LAB, IET	918.75	working	21.06.2011
6.	Conductivity cell(Cel constant- 0.5) – 10 Nos.	EI	CHEMISTRY LAB, IET	1181.25	working	21.06.2011
7.	Digital Dissolved Oxygen Meter – 01 No	EI	CHEMISTRY LAB, IET	6300	working	21.06.2011
8.	Digital Flame Photometer with filters (Na & K)- 05 Nos.	ESICO	CHEMISTRY LAB, IET	20300	working	21.06.2011
9.	Digital pH Meter – 15 Nos.	El	CHEMISTRY LAB, IET	3675	working	21.06.2011
10.	Digital Spectrophotometer Range : (340nm-960nm) – 01 No	EI	CHEMISTRY LAB, IET	20037	working	21.06.2011
11.	Distilled water plant – 01 No.	Tanco	CHEMISTRY LAB, IET	4760	working	21.06.2011
12.	Electronic Digital Stop watch – 15 Nos.	Racer	CHEMISTRY LAB, IET	400	working	21.06.2011
13.	Hot plate cum magnetic stirrer – 03 Nos.	Tanco	CHEMISTRY LAB, IET	4080	working	21.06.2011
14.	Hot plates – 03 Nos.	Tanco	CHEMISTRY LAB, IET	1800	working	21.06.2011
15.	Laboratory Stirrer – 03 Nos.	Tanco	CHEMISTRY LAB, IET	6715	working	21.06.2011
16.	Oven – 01 No	Tanco	CHEMISTRY LAB, IET	7905	working	21.06.2011
17.	Pensky Martens Flash Point Apparatus – 15 Nos.	Aditya	CHEMISTRY LAB, IET	4675	working	21.06.2011
18.	Rectangular Muffle Furnace (1000°C) – 01 No	Tanco	CHEMISTRY LAB, IET	8075	working	21.06.2011
19.	Red Wood Viscometer-1 – 15 Nos.	Aditya	CHEMISTRY LAB, IET	4590	working	21.06.2011
20.	Red Wood Viscometer-2 – 15 Nos.	Aditya	CHEMISTRY LAB, IET	5440	working	21.06.2011
21.	Single Stage Vacuum Pump – 01 No	Tanco	CHEMISTRY LAB, IET	11730	working	21.06.2011
22.	Water Bath Rectangular – 02 Nos.	Tanco	CHEMISTRY LAB, IET	2890	working	21.06.2011

PHYSICS LAB

S. No.	Item description	Quan tity	Location Department	Value Each item (in Rs.)	Value Total (in Rs.)	Present condition	Date purchase
1	OMEGA Carey Foster Bridge. Model:ES-225	2	IET/Engg. Physics lab	3003	6006	Working	22/06/11
2	Omega newton's Ring Apparatus. Model: ES-249	2	IET/Engg. Physics lab	7735	15470	Working	22/06/11
3	MARS Dispersive Power of Prism Model:ES-284	2	IET/Engg. Physics lab	8690	17380	Working	22/06/11
4	OMEGA FRENEL'S Biprism Apparatus. Mdel:ES-283	2	IET/Engg. Physics lab	10920	21880	Working	22/06/11
5	MARS Diffraction Grating Apparatus model-ME-855	2	IET/Engg. Physics lab	8295	16590	Working	22/06/11
6	MARS Sextant Appratus Model: ME-831	2	IET/Engg. Physics lab	6636	13272	Working	22/06/11
7	OMEGA Polarimeter Apparatus Model ES-259	2	IET/Engg. Physics lab	9009	18018	Working	22/06/11
8	MARS High Resistance Leakage Method by Ballistic galvanometer. Model: ME-862	2	IET/Engg. Physics lab	6952	13904	Working	22/06/11
9	MARS Resolving Power of Telescope Apparatus Model ME-869	2	IET/Engg. Physics lab	6715	13430	Working	22/06/11
10	MARS Charging and discharging Apparatus Model:ME-564D	2	IET/Engg. Physics lab	2291	4582	Working	22/06/11
11	MARS Thermo E.M.F Apparatus Model: ME-863	2	IET/Engg. Physics lab	5530	11060	Working	22/06/11
12	MARS He –Ne Laser Model: ME-861H	1	IET/Engg. Physics lab	26465	26465	Working	22/06/11
13	MARS Michelson Interferometer Apparatus Model: ME-870	1	IET/Engg. Physics lab	30810	30810	Working	22/06/11
14	SCINTIFIC 30 MHZ Analog Ocilloscope Model SM-410	2	IET/Engg. Physics lab	16002	32004	Working	22/06/11
15	MARS Dielectric Constant Apparatus Model:ME-824	2	IET/Engg. Physics lab	4898	9796	Working	22/06/11
16	MARS G.M. Counting system apparatus Model: ME-840	1	IET/Engg. Physics lab	39500	39500	Working	22/06/11
17	MARS Battery Charger Model: ME-352	2	IET/Engg. Physics lab	1106	2212	Working	22/06/11
18	Battery Lead acid 2V	2	IET/Engg. Physics lab	445	890	Working	22/06/11
19	MARS Battery Eliminator Model: ME-412	2	IET/Engg. Physics lab	782	1564	Working	22/06/11
20	Beaker 600ml	2	IET/Engg. Physics lab	80	160	Working	22/06/11
21	Screw Gauge	2	IET/Engg. Physics lab	89	178	Working	22/06/11
22	Vernier Caliper	2	IET/Engg. Physics lab	311.5	623	Working	22/06/11
23	Spherometer	2	IET/Engg. Physics lab	89	178	Working	22/06/11
24	RACER Digital Stop Clock	2	IET/Engg. Physics lab	400.5	801	Working	22/06/11

25	Heater	2	IET/Engg. Physics	178	356	Working	22/06/11
26	OSAW Resistance Box Range 1000	2	lab IET/Engg. Physics	2772	5544	Working	29/06/11
27	ohm, cat 29065A OSAW Resistance Box Range 10000	2	lab IET/Engg. Physics	3612	7224	Working	29/06/11
00	ohm, cat 29069	2	lab	252	504	Marking	29/06/11
28	Taping Key. Cat. 31052		IET/Engg. Physics lab			Working	
29	One Way Key Cat. 31001	2	IET/Engg. Physics lab	210	420	Working	29/06/11
30	Two Way key cat. 31003	2	IET/Engg. Physics lab	302.4	604.80	Working	29/06/11
31	Morse Key cat. MK-1	2	IET/Engg. Physics lab	369.6	739.20	Working	29/06/11
32	Rheostat Big range 1 Amp/300 ohm cat. 29802	2	IET/Engg. Physics lab	630	1260	Working	29/06/11
33	Rheostat small 5 Amp/12 ohm cat 29802	2	IET/Engg. Physics lab	609	1218	Working	29/06/11
34	Voltmeter range 0-3Volt, cat. 28029	2	IET/Engg. Physics	529.2	1058.40	Working	29/06/11
35	Voltmeter range 0-1.5Volt, cat. 28029	2	IET/Engg. Physics lab	529.2	1058.40	Working	29/06/11
36	Ammeter range 0-3Amp. Cat.2821	2	IET/Engg. Physics	529.2	1058.40	Working	29/06/11
37	Ammeter range 0-1.5Amp. Cat.2821	2	IET/Engg. Physics lab	529.2	1058.40	Working	29/06/11
38	Galvanometer 30-0-30. Cat. 28038	2	IET/Engg. Physics lab	512.4	1024.80	Working	29/06/11
39	Polarimeter Tube cat. 25051	2	IET/Engg. Physics lab	277.2	554.40	Working	29/06/11
40	SES Make B-h Curve Apparatus: HL-111	2	IET/Engg. Physics lab	17800	35600	Working	12/07/11
41	SES Make Digital AC milivoltmeter, Model ACM-102	2	IET/Engg. Physics lab	5518	11036	Working	12/07/11
42	OMEGA Fiber Trainer For Numerical Aperture, Model : FO-005	2	IET/Engg. Physics lab	13650	27300	Working	24/06/11
43	Ammonium chloride(500gm)	2	IET/Engg. Physics lab	117	234	Available	01/11/11
44	Sugar cube(500gm)	5	IET/Engg. Physics lab	36	180	Available	01/11/11
45	Screw Driver Set	1	IET/Engg. Physics lab	144	144	Working	01/11/11
46	Nose Plier	1	IET/Engg. Physics lab	106	106	Working	01/11/11
47	Combination Cutting Plier	1	IET/Engg. Physics lab	106	106	Working	01/11/11
48	Side Cutting Plier	1	IET/Engg. Physics lab	129	129	Working	01/11/11
49	Iron Rod and Soldering Set	1	IET/Engg. Physics lab	205	205	Working	01/11/11
50	Copper Connecting Wire	3	IET/Engg. Physics lab	325	975	Working	01/11/11
51	Nichrome Wire	1	IET/Engg. Physics lab	150	150	Working	01/11/11

52	Magnine wire	1	IET/Engg. Physics lab	315	315	Working	01/11/11
53	Digital Multi meter	1	IET/Engg. Physics lab	552	552	Working	01/11/11
54	Table lamp Bulb	5	IET/Engg. Physics lab	216	1080	Working	01/11/11
55	Cover glass for polarimeter	10	IET/Engg. Physics lab	3.60	36	Working	01/11/11
56	Beaker 200ML	2	IET/Engg. Physics lab	29	58	Working	01/11/11
57	Plano convex lens set	1	IET/Engg. Physics lab	72	72	Working	01/11/11
58	OSAW Resistance Box Range 10000 ohm	2	IET/Engg. Physics lab	4640	9260	Working	14/11/13
59	OSAW Resistance Box Range 10000 ohm	2	IET/Engg. Physics lab	3700	7400	Working	14/11/13
60	One way key	4	IET/Engg. Physics lab	216	864	Working	14/11/13

ELECTRICAL LAB

Sr. No.	Item Description	Location Department	Value (In Rs)	Present Condition	Date of Purchase
1	A.c. to d.c. power supply rectifier type with transformer(30A DC)	B008 Basement	79950	Working	30-12-2012
2	3 Phase Inductive load 6 Amp	B008 Basement	23250	Working	30-12-2012
3	3 Phase Resistive load 3.75 kw	B008 Basement	15250	Working	30-12-2012
4	Open circuit and short circuit tests on single phase transformer	B008 Basement	28420	Working	30-12-2012
5	Speed control of d.c. motor by armature and field control	B008 Basement	38550	Working	30-12-2012
6	Speed control of d.c. shunt motor by ward leonard method	B008 Basement	67500	Working	30-12-2012
7	Measurment of direct axis and quadrature axis reactance for synchronous machine by slip test	B008 Basement	89550	Working	30-12-2012
8	Determination of efficiency for a d.c. shunt motor by swinburn's test	B008 Basement	36980	Working	30-12-2012
9	No load & blocked rotor test on a three phase induction motor & to determine its efficiency	B008 Basement	45550	Working	30-12-2012
10	No load test & short circuit test on a three phase alternator & to find voltage regulation by synchronous impedance method	B008 Basement	82550	Working	30-12-2012
11	Parallet operation of two 3 phase transformer and determine their load sharing	B008 Basement	77940	Working	30-12-2012
12	Plot v curve of synchronous motor at a no load, $\frac{1}{2}$ and full load	B008 Basement	69950	Working	30-12-2012
13	Study the performeance of 3 phase transformer for its various connections	B008 Basement	53940	Working	30-12-2012

DIGITAL ELECTRONICS LAB

S.N.	ITEM Description	Location Department	Value (in Rs.)	Present Condition	Date of Purchase
1	OMEGA, Design and Implementation of 4 bit binary Adder/Subtractor and BCD Adder	Electronics and Communication	2350	Working	25/12/2012
2	MARS Design and Implementation of Adder and Subtractor using logic gates.	Electronics and Communication	2241	Working	25/12/2012
3	MARS Design and Implementation of Encoder and Decoder using logic gates.	Electronics and Communication	3030	Working	25/12/2012
4	MARS Design and Implementation of MUX and DEMUX.	Electronics and Communication	3030	Working	25/12/2012
5	OMEGA, Design and Implementation of 2 bit magnitude comparator	Electronics and Communication	2068	Working	2/1/2013
6	OMEGA, Design and Implementation of 3 bit synchronous up/down counter	Electronics and Communication	6768	Working	2/1/2013
7	OMEGA, Design and Implementation of code convertor using logic gates	Electronics and Communication	2632	Working	2/1/2013
8	OMEGA, Design and Implementation SISO, SIPO, PISO, PIPO Shift Register	Electronics and Communication	2444	Working	2/1/2013
9	OMEGA, Study of Logic Gates	Electronics and Communication	2632	Working	2/1/2013

FLUID MECHANICS LAB

S.No	Item Description	Location Department	Value (in Rs.)	Present Condition	Date of Purchase
1	Apparatus for Mouth piece Expriments	CIVIL Lab, IET	44000	Working	19.07.2012
2	Bernoulli's Theorem	CIVIL Lab, IET	45600	Working	19.07.2012
3	Apparatus for friction factor of Pipe	CIVIL Lab, IET	52000	Working	19.07.2012
4	Metacentric Height Apparatus	CIVIL Lab, IET	28000	Working	19.07.2012
5	Pelton Wheel Test Rig	CIVIL Lab, IET	222000	Working	19.07.2012
6	Reynold Experiment	CIVIL Lab, IET	38400	Working	19.07.2012
7	Study of Centrifugal Pump	CIVIL Lab, IET	86400	Working	19.07.2012
8	Venturimeter & Orifice Meter Apparatus	CIVIL Lab, IET	46000	Working	19.07.2012
9	V-Notch Apparatus	CIVIL Lab, IET	43000	Working	19.07.2012

MECHANICAL WORKSHOP LAB

A-MACHINE SHOP

Sr. No.	Name of the equipment	Quantity	Cost per Unit	Total Value (in Rs.)	Location Department	Present Condition	Date of Purchase
1	Allen Key Set	1	339.5	339.5		working	30/06/2011
2	Bench Grinder	1	6,790	6,790.00	-	working	30/06/2011
3	Chucks (Four Jaw)-10"	3	5,335	16,005.00		working	30/06/2011
4	Chucks (Three Jaw)-8"	3	5,820	17,460.00		working	30/06/2011
5	Revolving centre	3	1,455	4,365.00		working	30/06/2011
6	Outside Caliper -6"	3	38.8	116.4		working	30/06/2011
7	Inside Caliper -6"	3	38.8	116.4		working	30/06/2011
8	Thread Gauge Set	1	242.5	242.5		working	30/06/2011
9	Micrometer(0-25mm)	3	436.5	1309.5		working	30/06/2011
10	Vernier caliper	1	378.3	378.3		working	30/06/2011
11	Marking Block	1	266.75	266.75		working	30/06/2011
12	Lathe Machine	3	58,200	1,74,600		working	30/06/2011
13	Norton gear box for lathe m/c	3	11,640	34,920	Mech. Workshop, lab	working	30/06/2011
14	Shaper Machine	1	93,265	93,265.00	block, IET	working	30/06/2011
15	Oil Cane	3	87.3	261.9		working	30/06/2011
16	Spanner Set	1	339.5	339.5		working	30/06/2011
17	Spirit Level	1	87.3	87.3		working	30/06/2011
18	Lathe tool holder	1	232.8	232.8		working	30/06/2011
19	Knurling Tool	3	164.9	494.7		working	30/06/2011
20	Parting Tool Holder	1	315.25	315.25		working	30/06/2011
21	Vernier Caliper	3	350	1650]	working	19/10/2011
22	Lathe tool holder	2	210	420		working	19/10/2011
23	Shaper tool holder	1	386	386		working	19/10/2011
24	Micro-meter (25-50mm)	1	950	950		working	18/11/2011
25	Bench Grinder	1	5,500	5,500.00		working	16/10/2012
26	Electric motor (0.75/1Hp, Ph-I)	4	6450	25,850		working	23/11/2012

B-FITTING & SHEET METAL SHOP

Sr. No.	Name of the equipment	Quantity	Cost per Unit	Total Value (in Rs.)	Location Department	Present Condition	Date of Purchase
1	Bench Vice	12	1,164	13,968		Working	30/06/2011
2	Flat file-10"	8	87.3	698.4		Working	30/06/2011
3	Half round file-6"	5	87.3	436.5	-	Working	30/06/2011
4	Half round file-10"	5	135.8	679		Working	30/06/2011
5	Round file-10"	5	106.7	533.5		Working	30/06/2011
6	Square file-8"	5	106.7	533.5		Working	30/06/2011
7	Triangular file-8'	5	87.3	436.5		Working	30/06/2011
8	Needle file set	1	485	485	-	Working	30/06/2011
9	Filler Gauge	1	242.5	242.5	-	Working	30/06/2011
10	Ball peen hamer(200gm)	2	87.3	174.6		Working	30/06/2011
11	Ball peen hamer(500gm)	1	194	194		Working	30/06/2011
12	Cross peen hammer (200gm)	2	87.3	174.6		Working	30/06/2011
13	Hacksaw frame	6	116.4	698.4		Working	30/06/2011
14	Steel Scale-12"	6	19.4	116.4		Working	30/06/2011
16	centre Punch	5	77.6	388		Working	30/06/2011
17	Number Punch set	1	417.1	417.1		Working	30/06/2011
18	Letter punch set	1	533.5	533.5	Mech.	Working	30/06/2011
19	Pliers	2	179.45	358	Workshop, lab	Working	30/06/2011
20	Radius gauge set	1	368	368	block, IET	Working	30/06/2011
21	surface plate	1	12125	12125	· · ·	Working	30/06/2011
22	Scriber-6"	5	38.8	194	-	Working	30/06/2011
23	Screw driver set	1	145.5	145.5	-	Working	30/06/2011
24	Screw driver medium	1	97	97		Working	30/06/2011
25	Screw driver big	1	121.25	121.25		Working	30/06/2011
27	Sheet cutter	1	4850	4850		Working	30/06/2011
29	Try-Square-8"	6	106.7	640.2		Working	30/06/2011
31	Pipe wrench	1	213.4	213.4		Working	30/06/2011
32	Adjustable wrench	1	291	291		Working	30/06/2011
33	Wooden mallet	1	291	291		Working	30/06/2011
34	Std. WireGauge	1	87.3	87.3		Working	30/06/2011
35	Divider-6"	2	58.2	116.4		Working	30/06/2011
36	Drilling machine	1	19,400	19,400		Working	30/06/2011
37	drill Sleeve	1	388	388		Working	30/06/2011
38	Flat file-10"	4	120	480		Working	18/11/2011
39	Hacksaw frame	9	45	405		Working	18/11/2011
40	vernier height gauge	1	2,000	2,000		Working	18/11/2011
41	Snip-24"	1	450	450		Working	18/11/2011
42	Bench Stakes	2	Made	e by Staff (S.K.	Tanwar& Kamal jee	et) in house	2012

43	Electric motor for Drilling	1	4650	4650	Mech. Workshop, lab	Working	23/11/2012
44	Magnetic stand	1	850	850		Working	22/01/2013
45	Snip Bent	5	180	900		Working	22/01/2013
46	Soldering Iron	5	180	900	block, IET	Working	22/01/2013
47	mallet	10	25	250		Working	22/01/2013

C-CARPENTRY SHOP

Sr. No.	Name of the equipment	Quantity	Cost per Unit	Total value (in Rs.)	Location Department	Present Condition	Date of Purchase
1	Side Axe	1	145.5	145.5		Working	30/06/2011
2	C-Clamp	3	116.4	349.2		Working	30/06/2011
3	Sash Clamp	1	999.1	999.1		Working	30/06/2011
4	Wooden Chisel (Firmer)	3	145.5	436.5		Working	30/06/2011
5	wooden chisel (Mortise)	1	145.5	145.5		Working	30/06/2011
6	Hand drill (Manual)	1	727.5	727.5		Working	30/06/2011
7	Emery stone	2	145.5	291		Working	30/06/2011
8	Rasp file	5	242.5	1212.5		Working	30/06/2011
9	Marking Gauge	2	116.4	232.8		Working	30/06/2011
10	Claw Hammer	2	116.4	232.8		Working	30/06/2011
11	Cross peen hammer	2	77.6	155.2		Working	30/06/2011
12	Ball peen hammer(200gm)	2	87.3	174.6		Working	30/06/2011
13	Steel scale	5	19.4	97	-	Working	30/06/2011
15	Pincer/Jamburi	2	63.05	126.1		Working	30/06/2011
16	Iron Jack Plane-8"	2	533.5	1067		Working	30/06/2011
17	Rip saw	5	48.5	242.5		Working	30/06/2011
18	Tri-square-6"	5	77.6	388	Mech.	Working	30/06/2011
19	Carpentry Vice	5	1212.5	6062.5	Workshop, lab block, IET	Working	30/06/2011
20	Electric Hand Drill Machine	1	1800	1800	510010, 121	Working	18/11/2011
21	Chisel (Firmer)	2	30	60		Working	18/11/2011
22	Mortise Chisal	2	30	60		Working	18/11/2011
23	Carpentry Table	2	27360	54720		Working	10/9/2012
24	saw Teeth Setter	1	220	220		Working	16/10/2012
25	Key hole Saw	1	30	30		Working	16/10/2012
26	Measring Tape-3mtr	1	45	45		Working	16/10/2012
27	Measuring Tape-30mtr	1	240	240]	Working	16/10/2012
28	Bevel Edge Chisel (Firmer)	6	190	1140]	Working	16/10/2012
29	Carpenty Vice	5	850	4250		Working	22/01/2013
30	steel Scale 1 mtr.	1	120	120		Working	22/01/2013
31	Tenon saw	8	45	360		working	22/01/2013
32	Triangular File-4"	12	30	360		Working	22/01/2013
33	Triangular File-5"	12	35	420		working	22/01/2013
34	Extention board	2	160	320		working	22/01/2013
35	Iron smoothing plane	6	220	1320		working	22/01/2013

D-Welding shop

Sr. No.	Name of the equipment	Quantity	Cost per Unit	Total value (in Rs.)	Location Department	Present Condition	Date of Purchase
1	Arc welding trasfamer(200Amp)	2	8245	16490		Working	30/06/2011
2	Welding holder	2	194	388		Working	30/06/2011
3	Welding Cable	20mtr	92.15	1843		Working	30/06/2011
4	Chipping hammer	4	194	776		Working	30/06/2011
5	Oxygen gas cylinder	1	9506	9506		Working	30/06/2011
6	Acetylene gas cylinder	1	8633	8633	Mech.	Working	30/06/2011
7	Key for gas cylinder	1	87.3	87.3	Workshop, Lab block, IET	Working	30/06/2011
8	Power hachsaw machine	1	13580	13580	DIOCK, IE I	Working	30/06/2011
9	Tong-12"	1	97	97		Working	30/06/2011
10	Tong-12"	4	120	480		Working	18/11/2011
11	Electric hand grinder	1	1900	1900]	Working	18/11/2011
12	Electric motor for Power Hacksaw(Ph-III, 0.5hp)	1	4650	4650		Working	23/11/2012

E-Foundry & Simithy shop

Sr. No.	Name of the equipment	Quantity	Cost per Unit	Total Value (in Rs.)	Location Department	Present Condition	Date of Purchase
1	Anvil (25kg)	2	92.15	4607.5		Working	30/06/2011
2	Elecric Bellow	1	1212.5	1212.5		Working	30/06/2011
3	Flat chisel(cold)	2	97	194		Working	30/06/2011
4	Crucible	3	281.3	843.9		Working	30/06/2011
5	Draw screw/spike	5	97	485		Working	30/06/2011
6	Electric furnance	1	21825	21825		Working	30/06/2011
7	Hammer(3kg)	1	194	194		Working	30/06/2011
8	Cleaner & lifter	5	121.5	606.25	Mech.	Working	30/06/2011
9	moulding box(10"x10"x3')	5	1358	6790	Workshop, Lab block, IET	Working	30/06/2011
10	Rammer(Peen)	5	679	3395		Working	30/06/2011
11	Rammer(flat)	5	679	3395		Working	30/06/2011
12	Shovel	1	339.5	339.5		Working	30/06/2011
13	Skimming tool	1	339.5	339.5]	Working	30/06/2011
14	Crucible lifter/Tong-3"	1	824.5	824.5]	Working	30/06/2011
15	Vent wire	5	67.9	339.5		Working	30/06/2011
16	Mallet(plistic)-25mm	2	120	240		Working	18/11/2011

<u>WORKSHOP</u>

S.No	Item Description	Quantity	Cost per Unit	Total Value (in Rs.)	Location Department	Present Condition	Date of Purchase
1	Grease Gun	1	218.25	218.25	-	Working	30/06/2011
2	Vice for shaper	1	9,215	9215		Working	30/06/2011
3	Digital Vernier Caliper	1	1,150	1150		Working	19/10/2011
4	Welding Screen	2	106.7	213.4		Working	30/06/2012
5	Gas welding tourch	1	1600.5	1600.5		Working	30.06/2011
6	gas cutting tourch	1	2182.5	2182.5		Working	30/06/2011
7	Regulator for oxygen cylinder	1	2328	2328		Working	30/06/2011
8	Regulator for acetylene cylinder	1	2328	2328		Working	30/06/2011
9	Hose pipe	30mtr	58.2	1746		Working	30/06/2011
10	Sand riddle	1	824.5	824.5		Working	30/06/2011
11	Trowel pan shape	3	121.25	363.75		Working	30/06/2011
12	Trowel straight	3	121.25	363.75	Mech.	Working	30/06/2011
13	Rip saw	5	48.5	242.5	Workshop, Lab block, IET	Working	30/06/2011
14	Trisquare	10	77.6	776		Working	30/06/2011
15	Rasp file	5	242.5	1212.5		Working	30/06/2011
16	Files	8	87.3	698.4		Working	30/06/2011
17	Electrode holder	2	194	388		Working	30/06/2011
18	Hand drill (Manual)	1	727.5	727.5		Working	30/06/2011
19	Welding cable	20mtr	92.15	1843		Working	30/06/2011
20	Outside caliper	3	38.8	116.4		Working	30/06/2011
21	Inside caliper	3	38.8	116.4		Working	30/06/2011
22	Divider	2	58.2	116.4		Working	30/06/2011
23	Tap handle	2	242.5	485		Working	30/06/2011
24	soldering strip	1kg	970	970		Working	30/06/2011

Surveying Lab (Civil)

S. No.	Item Description	Location Departme	Quantity	Rate Per Nos.	Value (In Rs.)	Present Condition	Date Purchase
110.		nt		1103.	(11113.)	Condition	Futchase
01.	ARROWS	CIVIL	61/11!Opt/	100.00	5,000.00	WORKING	14.01.2013
02.	AUTOMATIC LEVEL JL-224 [JANAK MAKE]	CIVIL	6Nos.	10,000.00	60,000.00	WORKING	14.01.2013
03.	LEVELLING STAFF	CIVIL	6Nos.	1,200.00	7,200.00	WORKING	14.01.2013
04.	CROSS STAFF 4"	CIVIL	6Nos.	500.00	3,000.00	WORKING	14.01.2013
05.	OPTICAL SQUARE	CIVIL	6Nos.	2,500.00	15,000.00	WORKING	14.01.2013
06.	PRISMATIC COMPASS	CIVIL	6Nos.	4,000.00	24,000.00	WORKING	14.01.2013
07.	PRISM SQUARE	CIVIL	6Nos.	3,000.00	18,000.00	WORKING	14.01.2013
08.	RANGING ROD 3 MTR	CIVIL	61/11!Opt/	220.00	11,000.00	WORKING	14.01.2013
09.	SURVEYING CHAIN 30 MTR	CIVIL	6Nos.	1,300.00	7,800.00	WORKING	14.01.2013
10.	SURVEYOR COMPASS	CIVIL	6Nos.	700.00	4,200.00	WORKING	14.01.2013
11.	MATELLIC TAPE 50 MTR	CIVIL	2.00Nos.	800.00	1,600.00	WORKING	14.01.2013
12.	MATELLIC TAPE 30 MTR	CIVIL	21/11!Opt/	1,200.00	12,000.00	WORKING	14.01.2013
13.	THEODOLITE JT-2C [JANAK MAKE]	CIVIL	6Nos.	40,000.00	2,40,000.00	WORKING	14.01.2013
14.	TILTING LEVEL	CIVIL	6Nos.	5,000.00	30,000.00	WORKING	14.01.2013
15.	ALLUMINIUM TELESCOPIC TRIPOD	CIVIL	6Nos.	3,000.00	18,000.00	WORKING	14.01.2013
16.	PLANE TABLE SETUP (DRAWING BOARD)	CIVIL	2Nos.	6,825.00	13,650	WORKING	13.03.2013

ANALOG ELECTRONICS LAB

Sr. No	Item Description	Location Department	Qty	Value (in RS.)	Present Condition	Date of Purchase
1	NVIS 25 MHz DSO Two channel Model No. : NB102C	Analog Lab	1	19189.00	Working	12/28/2012
2	NVIS Hartley and Colpitt Oscillator Model No.: NV6505	Analog Lab	1	3570.00	Working	1/24/2013
3	SCIENTECH K-Drive Filter Model No. : AB49	Analog Lab	1	2767.00	Working	1/24/2013
4	NVIS MOSFET Characteristics Trainer Model No. : NV6541	Analog Lab	1	5534.00	Working	1/24/2013
5	SCIENTECH Phase Shift Oscillator (Transistorized) Model No. : AB70	Analog Lab	1	2499.00	Working	12/28/2012
6	NVIS Power and Differential Amplifier Model No. NV6522	Analog Lab	1	4641.00	Working	1/24/2013
7	SCIENTECH RC Coupled Feedback Amplifier with eexternal Power Supply Model No. AB64	Analog Lab	1	2678.00	Working	1/24/2013
8	SCIENTECH Transistor Series and Shunt Voltage Regulator Model No. AB32 & Model No. AB33	Analog Lab	1	3927.00	Working	1/24/2013
9	NVIS TTL & CMOS Characteristics Trainer Model No. NV6551	Analog Lab	1	2856.00	Working	1/24/2013
10	NVIS Wein Bridge Oscillator Model No. NV6506	Analog Lab	1	3749.00	Working	1/24/2013

Sr. No	Item Description	Location Department	Qty	Value (in RS.)	Present Condition	Date of Purchase
(1)	NVIS- STUDY THE CHARACTERISTICS OF BJT	EDC Lab	1	4368	Working	7/21/2012
(2)	SCIENTECH-TRANSISTOR CHARACTERISTICS(CB NPN)	EDC Lab	1	840	Working	7/21/2012
(3)	SCIENTECH-TRANSISTOR CHARACTERISTICS(CC NPN)	EDC Lab	1	840	Working	7/21/2012
(4)	SCIENTECH-TRANSISTOR CHARACTERISTICS(CE NPN)	EDC Lab	1	840	Working	7/21/2012
(5)	NVIS- APPLICATION OF DIODE AS CLIPPER AND CLAMPER	EDC Lab	1	4620	Working	7/21/2012
(6)	CADDO-30 MHz Oscilloscope MODEL 803	EDC Lab	6	15330	Working	7/21/2012
(7)	TEST LEAD BNC TO BNC	EDC Lab	2	92.4	Working	7/21/2012
(8)	NVIS- HALF WAVE AND FULL WAVE RECTIFIER TRAINER	EDC Lab	1	2940	Working	7/21/2012
(9)	SCIENTECH-FET CHARACTERISTICS	EDC Lab	1	840	Working	7/21/2012
(10)	NVIS-PLOT DRAIN CURRENT-DRAIN VOLTAGE and DRAIN CURRENT	EDC Lab	1	5208	Working	7/21/2012
(11)	NVIS-PLOT V-I CHARACTERISTICS OF PN JUNCTION	EDC Lab	1	4032	Working	7/21/2012
(12)	TEST LEAD BNC TO CROCODILE CLIP	EDC Lab	6	75.6	Working	7/21/2012
(13)	SCIENTECH- RC COUPLED AMPLIFIER	EDC Lab	1	1092	Working	7/21/2012
(14)	NVIS BJT AMPLIFIER	EDC Lab	1	4368	Working	7/21/2012
(15)	SCIENTECH -RECTIFIER CIRCUITS	EDC Lab	1	924	Working	7/21/2012
(16)	SCIENTECH-DIODE CHARACTERISTICS	EDC Lab	1	840	Working	7/21/2012
(17)	NVIS-PLOT V-I CHARACTERISTICS OF ZENER DIODE	EDC Lab	1	2940	Working	7/21/2012
(18)	SCIENTECH -ZENER VOLTAGE REGULATOR	EDC Lab	1	840	Working	7/21/2012
(19)	CADDO-3 MHz AM/FM FUNCTION PULSE GENERATOR	EDC Lab	2	8232	Working	8/18/2012
(20)	SCIENTECH DUAL POWER SUPPLY	EDC Lab	2	5964	Working	8/18/2012
(21)	SCIENTECH ANALOG LAB	EDC Lab	2	8820	Working	8/6/2012
(22)	SCIENTECH 3-1/2 DIGIT DIGITAL MULTIMETER	EDC Lab	2	924	Working	8/6/2012
(23)	SCIENTECH 3 MHZ FUNCTION PULSE GEN. COUNTER	EDC Lab	4	8232	Working	8/6/2012

Sr. No.	Item Description	Location Department	Quantity	Value (in Rs.)	Present Condition	Date of Purchase
1	Solar Energy Trainer with built in Voltmeter & Ammeter.	EMI LAB	1	12432.00	Working	28-06-12
2	Maxwell's Capacitance & Inductance Bridge	EMI LAB	1	4620.00	Working	28-06-12
3	Ultrasonic transducer Trainer	EMI LAB	1	13020.00	Working	28-06-12
4	LVDT Trainer	EMI LAB	1	9072.00	Working	28-06-12
5	Temperature Transducer Trainer	EMI LAB	1	12180.00	Working	28-06-12
6	Bench Top LCR Meter	EMI LAB	1	18480.00	Working	28-06-12
7	Strain Gauge Trainer	EMI LAB	1	9072.00	Working	28-06-12
8	Anderson's bridge with power supply	EMI LAB	1	2772.00	Working	28-06-12
9	Wein Bridge Oscillators Trainer (with +12 & -12V inbuilt SMPS power supply)	EMI LAB	1	3528.00	Working	28-06-12
10	Earth Resistance by Fall of Potential Method	EMI LAB	1	3000.00	Working	28-06-12
11	30MHz Oscilloscope (2 Channel)	EMI LAB	1	15330.00	Working	28-06-12
12	Digital Clamp meter (Tong Tester)	EMI LAB	1	2650.00	Working	28-06-12
13	Spectrum Analyzer Application Demonstrator Trainer	EMI LAB	1	15540.00	Working	28-06-12
14	Spectrum analyzer Trainer	EMI LAB	1	128625.00	Working	22-12-12

ELECTRONICS MEASUREMENT AND INSTRUMENTATION LAB

Sr. No.	Item Description	Location Department	Quantity	Value (in Rs.)	Present Condition	Date of Purchase
1	Single Line diagram of power system	EE Lab	2	1384.00	Working	28-May-11
2	House wiring Panel	EE Lab	2	5882.00	Working	28-May-11
3	Circuit Board of Tube Light	EE Lab	1	2768.00	Working	28-May-11
4	Working model Ceiling Fan	EE Lab	2	2162.50	Working	28-May-11
5	Single phase Induction Motor Panel	EE Lab	2	11228.50	Working	28-May-11
6	Various Lamps Panel	EE Lab	2	9085.00	Working	28-May-11
7	3-Phase Induction Motor Panel	EE Lab	2	21725.00	Working	28-May-11
8	Single Phase Transformer Panel	EE Lab	2	17775.00	Working	28-May-11
9	3-Phase Transformer Panel	EE Lab	2	27650.00	Working	28-May-11
10	Single phase, 2KVA Transformer Portable	EE Lab	2	5925.00	Working	28-May-11
11	3-Phase AC Motor	EE Lab	2	15405.00	Working	28-May-11
12	Single Phase Energy Meter	EE Lab	2	790.00	Working	28-May-11
13	Voltmeter 0-300V, AC & DC	EE Lab	2	1066.50	Working	28-May-11
14	DC Ammeter 0-5 A (Moving Coil)	EE Lab	1	1066.50	Working	28-May-11
15	Ammeter 0-5A (Moving Iron)	EE Lab	2	1066.50	Working	28-May-11
16	Wattmeter 5/10A, 750w	EE Lab	2	1540.50	Working	28-May-11
17	Display Board Capacitor	EE Lab	2	1820.00	Working	28-May-11
18	Display Board Diode	EE Lab	2	2002.00	Working	28-May-11
19	Display Board IC's	EE Lab	2	3549.00	Working	28-May-11
20	Display Board of Transistor	EE Lab	2	3276.00	Working	28-May-11
21	Display Board of Resistor	EE Lab	2	1456.00	Working	28-May-11
22	Transistor Amplifier Circuit	EE Lab	2	3160.00	Working	28-May-11
23	CB,CC, CE study panel	EE Lab	2	2366.00	Working	28-May-11
24	Diode Rectifier Panel	EE Lab	2	5005.00	Working	28-May-11
25	Thyristor Testing panel (Marsh)	EE Lab	2	7110.00	Working	28-May-11

ELECTRICAL AND ELECTRONICS ENGINEERING

CONCRETE & CONSTRUCTION TECHNOLOGY

Sr. No.	Item Description	Location Department	Quantity	Value (in Rs.)	Present Condition	Date of Purchase
1.	Haggregate Impact Test Apparatus With Automatic Blow Counter	Concrete & Construction Technology Lab	1	7376	Working	20.02.2013
2.	Rockwell cum Brinell Hardness Testing Machine	Concrete & Construction Technology Lab	1	62478	Working	20.02.2013
3.	HA50.40 Density Basket IS: 2386 (Part III) – 1963	Concrete & Construction Technology Lab	1	2430	Working	20.02.2013
4.	Compaction Factor Apparatus IS: 5515-1983	Concrete & Construction Technology Lab	1	11715	Working	20.02.2013
5.	Compression Testing Machine, Three Gauges Capacity, 2000kN	Concrete & Construction Technology Lab	1	134501	Working	20.02.2013
6.	Concrete Mixer 1 cu.ft Capacity Electrical cum manually operated.	Concrete & Construction Technology Lab	1	39049	Working	20.02.2013
7.	Aggregate Crushing Value Apparatus (150 mm) IS : 9376-1979	Concrete & Construction Technology Lab	1	6942	Working	20.02.2013
8.	HC42.10 Cube Mould (70.6 mm) With I.S.I Mark IS : 10080-1982	Concrete & Construction Technology Lab	1	456	Working	20.02.2013
9.	Cube Mould (100 mm) IS: 10086-1982 (MADE OF CAST IRON)	Concrete & Construction Technology Lab	1	955	Working	20.02.2013
10.	Digital Thermometer range upto 0-300 C Complete with calibration NABL Certified lab	Concrete & Construction Technology Lab	1	6942	Working	20.02.2013
11.	HOS Electronic Balance, Capacity 20 Kg, readability 1gm accuracy	Concrete & Construction Technology Lab	1	13884	Working	20.02.2013
12.	HOS Electronic Balance Capacity 600gm, readability 0.01gm	Concrete & Construction Technology Lab	1	20826	Working	20.02.2013
13.	Hot Air Oven Electrically Operated Thermostatically	Concrete & Construction Technology Lab	1	47726	Working	20.02.2013

	controller, size: 600mmx600mmx600m m					
14.	HOS Le Chatelier Flask	Concrete & Construction Technology Lab	1	1735	Working	20.02.2013
15.	HC38.05 Le Chatelier Mould	Concrete & Construction Technology Lab	1	304	Working	20.02.2013
16.	HA50.25 Length Gauge S:2386 (part-1) 1963	Concrete & Construction Technology Lab	1	694	Working	20.02.2013
17.	HA50.60 Los Angels Abrasion Testing Machine IS: 10070-1982	Concrete & Construction Technology Lab	1	56404	Working	20.02.2013
18.	HOS Measuring Jar, (Brorsil Make only), 1000 ML	Concrete & Construction Technology Lab	1	1302	Working	20.02.2013
19.	HOS Measuring Jar, (Brorsil Make only), 100 ML	Concrete & Construction Technology Lab	1	369	Working	20.02.2013
20.	HOS Measuring Jar, (Brorsil Make only), 250 ML	Concrete & Construction Technology Lab	1	477	Working	20.02.2013
21.	HC42.25 Cube Mould (150 mm) with I.S.I. mark, IS: 10086-1982	Concrete & Construction Technology Lab	1	1388	Working	20.02.2013
22.	HC42.149 Needle Vibrator, 40 mm dia, engine driven.	Concrete & Construction Technology Lab	1	17355	Working	20.02.2013
23.		Concrete & Construction Technology Lab	1	325	Working	20.02.2013
24.	PAN & Cover for 20 cm dia sieves	Concrete & Construction Technology Lab	1	369	Working	20.02.2013
25.	Pycnometer	Concrete & Construction Technology Lab	1	390	Working	20.02.2013
26.	Concrete Test Hammer	Concrete & Construction Technology Lab	1	27768	Working	20.02.2013
27.	Standard Test Sieves 200 mm dia, Spun Brass Frames, 1.18 mm, 150 mic, 2.36 mm, 300 mic, 3.35mm, 4.75mm, 600mic	Concrete & Construction Technology Lab	7	2583	Working	20.02.2013
28.	Sieve G.I. Frame 300 dia, 10, 12.5, 14, 236, 25, 3.35, 37.5, 4.75, 50, 63, 75 mm	Concrete & Construction Technology Lab	11	3575	Working	20.02.2013

29.	HS31.15 Sieve Shaker, Motorised	Concrete & Construction Technology Lab	1	15619	Working	20.02.2013
30.	HC37.60 Slump Test Apparatus IS: 7320	Concrete & Construction Technology Lab	1	1562	Working	20.02.2013
31.	HA50.20 Thickness Gauge IS:2386 (PART 1)-1963	Concrete & Construction Technology Lab	1	521	Working	20.02.2013
32.	HE-SPL Ultra Sonic Pulse Velocity Test	Concrete & Construction Technology Lab	1	164872	Working	20.02.2013
33.	HC42.135 Vibrating Machine	Concrete & Construction Technology Lab	1	19090	Working	20.02.2013
34.	Vicat Apparatus With Dashpot Confirming to IS: 5513-1976	Concrete & Construction Technology Lab	1	1910	Working	20.02.2013
35.	Water Bath Electrically operated and thermostatically controlled with adjustable shelves 1 deg C sensitivity, minimum capacity of 10 Lts with calibration certificate	Concrete & Construction Technology Lab	1	13884	Working	20.02.2013

University Grants Commission

Appendix-XV

Information about the Library

a)	Total Space (all Kinds)	1255 so	ą. meter			
b)	Computer / Communication facilities	Yes ICT Facility: 1. Three Online Public Access Catalogue (OPAC) terminal				
		2. Ter 3. Two	D E-Library termina D Staff terminals (C abase maintenanc	One for o		
			e terminal for printi	,	ty to the stud	lents /
c)	Total no. of Ref. Books (Each Department)	S. No.	Subject		Class No.	Volumes
			General		000-002 & 010-099	75
			Computer Science		003-006	403
			Philosophy and Psychology		100-199	107
			Religion		200-299	12
			Social Science		300-399	430
		7.	_anguage and Lite	rature	400-499 & 800-899	182
		8. I	Pure Sciences		500-599	601
			Engineering and		600-649 &	666
			Technology Management		661-699 650-659	1263
			Arts		700-799	6
			History and Geogra	anhy	900-999	21
			JKLU Publications	арпу	300-333	20
			TOTA			3786
d)	All Research Journals subscribed on a	Yes Print .I	ournals and Mag			0100
	regular basis	Sr.	Subject Area	No. of		Total
	-	No.	-	Indian	Internation	al
		1.	General Reading	18	00	18
		2.		73	10	83
		3.		24	11	35
			Total	115	21	136
		Databa	Resources: se: SCO: LRC subscrit	ped EB	SCO's Busine	ess Source

Premier. This is the industry's most popular business research database, features the full text for more than 2150 journals. world's definitive scholarly business database, providing the leading collection of bibliographic and full-text content(Access through intranet . It can be accessed through following link: <u>http://search.ebscohost.com (IP Authentication)</u> Business Source Premier Contains:				
	Content Type	Data		
1	Full-Text Books & Monograph	56		
2	Full-Text Case Studies	4257		
3	Full-Text Company Profiles	10152		
4	Full-Text Conference Papers/ Proceedings Collection	5		
5	Full-Text Country Economic Reports	1418		
6	Full-Text Industry Reports	5164		
7	Full-Text Market Research Reports	94		
8	Full-Text Peer-Reviewed Journals	1104		
9	Full-Text SWOT Analyses	3023		
10	Full-Text Trade Journals & General Business Magazines	1078		
11	Full-Text Working Papers Collection	2		

University Grants Commission

Appendix-XVI

Sports Infrastructure

I. Facility

Open Play Ground(s) for outdoor sports

- (a) Football, Cricket, Kabbadi and Volleyball
- (b) Track for Athletics: No
- (c) Basketball courts: Yes
- (d) Squash/Tennis Courts: No
- (e) Swimming Pool: No
- (f) Indoor Sports Facilities including gymnasium

Indoor Sports

- Table Tennis
- Carrom
- Chess
- Gymnasium

(g) Any other: Spacious Lawn has been developed with green grass and adequate

plantation in the campus.

University Grants Commission

Appendix-XVII

Information about the composition of the statutory bodies of the University

Separately for Governing Board, Executive Council, Board of Management, Academic Council, Finance Committee, Board of Studies, Others

The University does not have a Governing Board and Executive Council. The highest governing body of the University is the Board of Management.

Board of Management

S.No.	Name	Profession	Full Postal Address	Date of Constitution
1.	Shri Bharat Hari Singhania Chancellor	Industrialist	JK Lakshmipat University Link House, 4 th Floor 3, Bahadur Shah Zafar Marg New Delhi – 110 002	March 03, 2011
2.	Dr. R.P. Singhania Pro-Chancellor	Industrialist	JK Lakshmipat University Link House, 4 th Floor 3, Bahadur Shah Zafar Marg New Delhi – 110 002	
3.	Dr. Upinder Dhar Vice Chancellor	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026 Rajasthan	
4.	Prof. Anil K. Gupta Chair Professor of Strategy, INSEAD Singapore Member		Michael Dingman Chair in Global Strategy & Entrepreneurship Smith School of Business, The University of Maryland at College Park	
5.	Prof. M.S. Ananth Former Director, IIT Madras Member	Educationist	Visiting Professor, Department of Chemical Engineering, Indian Institute of Science, Bangalore 560012	
6.	Maj. Gen. D.N. Khurana, AVSM Former DG, All India Management Association Member	Service	Former DG, All India Management Association 288, Vasant Enclave Vasant Vihar New Delhi – 110 057	

7.	Shri H.P. Singhania Member	Industrialist	Managing Director JK Paper Ltd. Nehru House, 3 rd Floor 4, Bahadur Shah Zafar Marg New Delhi – 110 002
8.	Dr. K. Kasturirangan Former Chairman, ISRO & Member, Planning Commission Member	Scientist	Member – Science Planning Commission AB-12, Pandara Road New Delhi 110 011
9.	Dr. Pritam Singh Director General, International Management Institute, New Delhi Member	Educationist	Director General International Management Institute, B-10, Qutab Institutional Area, Tara Crescent, New Delhi - 110016
10.	Shri S.K. Roongta Former CMD, Steel Authority of India Member	Service	Former CMD, Steel Authority of India, D-91, Pinnacle, DLF Phase- V, Gurgaon-122 002 Haryana
11.	Dr. Subhash C. Jain Director of CIBER, School of Business, University of Connecticut, USA Member	Educationist	Director, Center for International Business Education and Research (CIBER), University of Connecticut, School of Business, 2100 Hillside Road, Unit 1041, Storrs, Connecticut 06269-1041, USA
12.	Shri Surendra Malhotra Former CEO, Orissa Synthetics Ltd. & Corporate Director Member	Service	Former CEO, Orissa Synthetics Ltd & Corporate Director Link House, 4 th Floor 3, Bahadur Shah Zafar Marg New Delhi – 110 002
13.	Shri S.A. Bidkar Senior Executive – Finance Member	Service	Chief Financial Officer JK Lakshmi Cement Ltd. Nehru House, 4 th Floor 4, Bahadur Shah Zafar Marg New Delhi – 110 002
14.	Smt. Vinita Singhania Member	Industrialist	Managing Director JK Lakshmi Cement Ltd. Nehru House, 4 th Floor 4, Bahadur Shah Zafar Marg New Delhi – 110 002
15.	Nominee, Govt. of Rajasthan Member	Service	Secretariat, Govt. of Rajasthan, Jaipur

16.	Director-IM Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
17.	Dr. B.V. Babu Director, Institute of Engineering & Technology Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
18.	Lt. Col (Retd.) S Manohar Officiating Registrar Non Member Secretary		JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	

Academic Council

S.No.	Name	Profession	Full Postal Address	Date of Constitution
1.	Dr. Upinder Dhar Chairperson (Vice Chancellor)	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
2.	Prof. D.M. Pestonjee Member	Educationist	3-A/3, Shyamal Row Houses, Off-Ring Road, Satellite, Ahmedabad – 380 015	
3.	Prof. I.K. Bhat Director Member	Educationist	Malaviya National Institute of Technology, Jaipur - 302017 (Rajasthan)	
4.	Dr. Mangesh G. Korgaonker Director General Member	Educationist	National Institute of Construction Management and Research, 25/1, Balewadi, N.I.A. Post Office, Pune – 411 045	
5.	Prof. A. Sridharan Member	Educationist	Formerly Professor of Civil Engineering and Deputy Director, Indian Institute of Science, "Sapatagiri", No. 40 West Park Road, Between 13 th and 14 th Cross, Malleswaram, Bangalore – 560 003	April 02, 2012
6.	Mr. Sanjay Jain Member	Service Executive	Company Secretary Cum G.M. (Accounts) Mahindra World City (Jaipur) Ltd. SEZ Project Office, PO Mahindra World City, Tehsil Sanganer, Jaipur	
7.	Dr. Anupam Tiwari Member	Service Executive	General Manager-HR Ranbaxy Laboratories Ltd. Industrial Area-3, Devas - 455001	
8.	Director-IM Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
9.	Dr. B.V. Babu Director-IET Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
10.	Dr. Santosh Dhar Professor-IM Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	

11.	Dr. Sandeep Tomar Associate Professor-IET Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
12.	Lt. Col (Retd.) S Manohar Officiating Registrar Non-Member Secretary	Service	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026

Board of Studies (Institute of Management)

S.No.	Name	Profession	Full Postal Address	Date of Constitution
1.	Dr. Santosh Dhar Professor-IM Chairperson	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
2.	Dr. Upasana Singh Assistant Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
3.	Dr. Santosh Rangnekar, Head of Management, IIT Roorkee. External Member	Educationist	Head-Department of Management Studies IIT, Roorkee Uttarakhand – 247667 Contact No. +91-1332-285311, 285422 , 285422	
4.	Mr. Amarjeet Singh Atthwal, HOD (HR & PA), Genus Power Infrastructures Ltd. External Member	Service	HOD (HR & PA), Genus Power Infrastructures Ltd. SPL-03, RIICO Industrial Area, SitaPura, Tonk Road, Jaipur- 302022	
5.	Dr. Biraj Kumar Mohanty Associate Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	07.02.2013
6.	Dr. Kapil Arora Associate Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
7.	Dr. Yogeshwari Phatak, Director, Prestige Institute and Regional Centre, Pune External Member	Educationist	Director – Prestige Institute of Management and Research 2, Education & Health Sector Sch Indore - 452 010 (MP) Tel: 0731- 2557510, 2557114	
8.	Dr. Vinod Dundlakar, Mantis, Management Simulation Games External Member	Service	Founder and C.E.O MANTIS 71-A Pocket A, Sukhdev Vihar New Delhi - 110025	
9.	Dr. Amit Jain Associate Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	

10.	Dr. Mala Srivastava, Professor, NMIMS University, Mumbai External Member	Educationist	Professor NMIMS University Vile Parle (W), Mumbai - 400056
11.	CS Sadasivan, Chief Executive (Marketing) JK Lakshmi Cements, New Delhi External Member	Service	Chief of Marketing JK Lakshmi Cements A-9, Sarvodaya Enclave, New Delhi-110017 PH. 41509736(O) /
12.	Dr. Ashwini Sharma Associate Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
13.	Dr. Ashu Sharma Associate Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
14.	Dr. Sheetal Mundra Assistant Professor-IM Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
15.	Dr. Harsh Dwivedi, Director, Podar Institute of Management, Rajasthan University, Jaipur External Member	Educationist	Professor & Director, R.A. Podar Institute of Management, Faculty of Management Studies, Jawaharlal Nehru Marg, Jaipur 302004
16.	Mr. Viresh Mathur, VP, BKT, Mumbai External Member	Service	AVP- Corporate HR BKT Tires, BKT House, C/15, Trade World, Kamala Mills Compound, Senapati Bapat Marg, Lower Parel, Mumbai, MH 400013 Mob : 9167221129

Board of Studies (Institute of Engineering and Technology)

S.No.	Name	Name Profession		Date of Constitution
1.	Dr. B.V. Babu Director-IET Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
2.	Dr. Ravindra Gudi, IIT Bombay External Member	Educationist	Department of Chemical Engineering I.I.T. Bombay Powai MUMBAI – 400 076	
3.	Dr. V.S. Gangadhara Rao, Chief Operating Officer-Manufacturing, Lanco Solar Pvt. Ltd., Gurgaon External Member	Service	Manufacturing Lanco Solar Private Limited Plot No. 229, Phase-I, Udyog Vihar Gurgaon-122 016 +91 124 4691000/4692500	
4.	Dr. Ms Vaishali Jain, Assistant Professor External Member	Educationist	#333, Gayatri Nagar-A, Maharani Farm, Durgarpura, Jaipur – 302018 Mob: 09828505864	
5.	Dr A K Vyas (MNIT Jaipur) External Member	Educationist	Head, Department of Civil Engineering Malaviya National Institute of Technology JLN Marg, Jaipur-302017	07.02.2013
6.	Mr. Sandeep Goel, Principal Architect & Planner, Suresh Goel & Associates, New Delhi External Member	Service	Principal Architect & Planner Suresh Goel & Associates S-83, Panchshila Park New Delhi - 110 017 +91 11 26014466 / 26016341	
7.	Dr. Sonal Jain Associate Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
8.	Prof. Devendra Bhavsar Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
9.	Dr. KRV "Raja" Subramanian, Chief Executive Officer, Radix Learning Pvt. Ltd., Bangalore External Member	Service	Chief Executive Officer Radix Learning Private Limited C/o IIIT-Bangalore Electronics City, Hosur Road Bangalore-560 100	

			,
10.	Prof. Jagdish Prasad Sharma Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
11.	Prof. Ravindra Meena Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
12.	Dr Surekha Bhanot (BITS Pilani); External Member	Educationist	Chief-Instrumentation Unit Department of Electronics & Instrumentation Birla Institute of Technology and Science (BITS) Pilani – 333 031
13.	Mr. Kunwer Sachdev, Managing Director, Su-Kam Power Systems Ltd., Gurgaon External Member	Service	Managing Director Su-Kam Power Systems Ltd Corporate Office Plot No. 54, Udyog Vihar, Phase-VI Sector-37, Gurgaon-122 011,
14.	Prof. Rajesh Kumar Dohare Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
15.	Prof. Love Jain Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
16.	Dr V K Choubey (BITS Pilani) External Member	Service	Department of Electrical & Electronics Engineering Birla Institute of Technology and Science (BITS) Pilani – 333 031
17.	Mr. Neeraj Sharma, Essem Icube Surveillance Pvt. Ltd., Gurgaon External Member	Service	Essem Icube Surveillance Pvt. Ltd., C-032A, DLF Supermart-I, DLF City Ph-IV, Gurgaon 122 002, Haryana Tel. +91 124 4262612/13/14
18.	Prof. Kapender Phagat Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026

19.	Prof. Anil Kumar Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
20.	Dr Govind S Dangayach (MNIT Jaipur) External Member	Educationist	Department of Mechanical Engineering Malaviya National Institute of Technology JLN Marg JAIPUR – 302 017	
21.	Dr. Sanjay Vashishtha, Managing Director, First Green Consulting Pvt. Ltd., Gurgaon External Member	Service	Managing Director First Green Consulting Pvt. Ltd Millennium Plaza, Tower-B 1202, Sector-27, Gurgaon	
22.	Dr. Kanad Ray, Associate Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
23.	Dr. Vipin Kumar Jain, Associate Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
24.	Dr. B.K. Sharma, Professor (Retd.) External Member	Educationist	Department of Physics, University of Rajasthan, Jaipur	
25.	Dr. Sandeep Kumar Tomar, Associate Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
26.	Dr. Sahanawaz Khan, Assistanr Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	
27.	Dr. Y.C. Joshi External Member	Educationist	Department of Chemistry, University of Rajasthan, Jaipur	
28.	Dr. Umesh Gupta, Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	

29.	Dr. Ritu Agarwal, Assistant Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
	Dr. K. C. Jain, Professor and Head External Member	Educationist	Department of Mathematics, Malaviya National Institute of Technology, JLN Marg, JAIPUR – 302 017
31.	Dr. Sanjay Kumar, Associate Professor Internal Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026
32.	Dr. Nupur Tandon, Associate Professor External Member	Educationist	Department of Humanities and Social Sciences, Malaviya National Institute of Technology, JLN Marg, JAIPUR – 302 017

Finance Committee

S.No.	Name	Profession	Full Postal Address	Date of Constitution
1.	Dr. Upinder Dhar Vice Chancellor Ex-Officio Chairman	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026 Rajasthan	-
2.	Director-IM Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026 Rajasthan	
3.	Dr. B.V. Babu Director-IET Member	Educationist	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026 Rajasthan	
4.	Mr. S. A. Bidkar Member	Service	JK Lakshmipat University Link House, 4 th Floor 3, Bahadur Shah Zafar Marg New Delhi – 110 002	July 27, 2012
5.	Mr. U.K. Gupta Member	Service	JK Lakshmipat University Link House, 4 th Floor 3, Bahadur Shah Zafar Marg New Delhi – 110 002	
6.	Mr. R.K. Jain Chief Finance & Accounts Officer Ex-Officio Member	Service	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026 Rajasthan	
7.	Lt. Col (Retd.) S Manohar Officiating Registrar Non-Member Secretary	Service	JK Lakshmipat University Laliya Ka Vas, P.O. Mahapura, Ajmer Road, Jaipur – 302 026	

University Grants Commission

Appendix-XVIII

Information about the Non-Teaching Staff of the University

SI. No.	Name	Designation	Age	Qualification	Scale of Pay	Date of Appointment	Trained Yes/No If yes, details		
Vice Chancellor Office									
1.	Mr.Subhash P. Nair	Personal Assistant	39	BA, MBA	(9300-34800 GP 4800)	15/09/2010	Yes (Exp=18 years)		
Registrar Office Including Establishment & Academic Sections									
2.	Lt. Col. (Retd.) S Manohar	Deputy Registrar	54	B.Ed (Tech) MA	(37400-67000 AGP 9000)	25/06/2012	Yes (Exp=27 years)		
3.	Mr.Prasanta Swarnakar	Assistant Registrar	43	B. Com, BA, EDP	(15600-39100 GP 5400)	01/09/2010	Yes (Exp=21 years)		
4.	Mrs. Smita Sharma	Section Officer	36	MBA	(9300-34800 GP 3200)	16/03/2013	Yes (Exp=13 years)		
5.	Mr.Mukesh Kumawat	Personal Assistant	35	BA, PGDCA	(5200-20200 GP 2800)	06/08/2011	Yes (Exp=12.5 years)		
6.	Ms.Anjali Tanwar	Senior Administrative Assistant	33	MA, MBA	(5200-20200 GP 1900)	16/05/2011	Yes (Exp=7 years)		
7.	Mr. Bharatkumar Nanalal Joshi	Warden – Boys Hostel	58	SSC	(4440-7440 GP 1300)	16/01/2012	Yes (Exp=15 years)		
8.	Ms. Aliva Dey	Front Office Councellor	35	BA, Diploma in Textile	(5200-20200 GP-1800)	06/05/2013	Yes (Exp=11.5 years)		
				Accounts Section	, , , , , , , , , , , , , , , , , , ,	•	,		
9.	Mr.R.K Jain	Chief Finance & Account Officer	65	B. Com, LLB	(37400-67000 GP 10000)	17/02/2011	Yes (Exp=36 years)		
10.	Mr.Anurag Sharma	Section Officer	28	MBA	(9300-34800 GP 3200)	18/07/2011	Yes (Exp=4 years)		
11.	Mr.Abhishek Damodaran	Accounts Officer	32	M. Com, MBA	(9300-34800 GP 3200)	05/01/2011	Yes (Exp=10 years)		
12.	Mr. Arihant Jain	Accounts Assistant	23	B.Com	(4440-7440 GP 1300)	06/05/2013	Yes (Exp=2 years)		
		•	l	nstitute of Management	· · · ·	•			
13.	Mr.Brij Raj Yadav	Personal Assistant	43	B. Sc.	(9300-34800 GP 4200)	01/06/2011	Yes (Exp=16 years)		
		Ins	stitute	of Engineering and Techr	/	I.	I.		
14.	Mr.Dinesh Kumar Gupta	Personal Assistant	37	BA	(9300-34800 GP 4200)	23/04/2011	Yes (Exp=15.7 years)		
15.	Mr.Suresh Kumar Tanwar	Workshop Instructor	39	10+2, ITI, Diploma Level Engineering	(9300-34800 GP 3200)	29/07/2011	Yes (Exp=17 years)		
16.	Mr.Deepak Singh	Lab Technician	36	BA, Diploma in Electronics, Computer Hardware and Networing	(4750-7440 GP 1650)	07/07/2011	Yes (Exp=12 years)		
17.	Mr.Kamal Jeet	Workshop Technician	25	10+2, ITI	(4440-7440 GP 1300)	11/11/2011	Yes (Exp=6.5 years)		
18.	Mr.Prahlad Kumar Jangid	Lab Assistant	33	B. Sc	(4440-7440 GP 1300)	16/11/2011	Yes (Exp=8.5 years)		
19.	Mr.Sharad Vegad	Lab Assistant	23	Diploma in Computer Science EnggAutocad	(4440-7440 GP 1300)	28/08/2012	Yes (Exp=1 year)		
20.	Mr.Sunil Kumar Saini	Lab Assistant	26	Diploma in Computer Science Engg.	(4440-7440 GP 1300)	05/09/2012	Yes (Exp=4 years)		
21.	Mr.Vijay Sharma	Lab Assistant	24	B.Sc	(5200-20200 GP 1800)	14/09/2012	Yes (Exp=2 years)		
22.	Mr.Ragesh Kumar Bhatt	Lab Assistant	39	Diploma in Electrical Engg.	(5200-20200 GP 1800)	13/02/2013	Yes (Exp=.8.3 years)		
23.	Mr.Arun Kumar Sharma	Lab Assistant	24	Diploma in Electronics & Communication	(4440-7440 GP 1300)	15/02/2013	Yes (Exp= 4.10 years)		
24.	Mr.Kuldeep Sain	Workshop Technician	23	BA, DCA	9000/- pm (consolidated)	17/10/2011	Yes (Exp=1.8 years)		

	MDC								
25.	Mr.Kamal Punjabi	Manager - Corporate Relations	41	MDBA, PGDCA	(9300-34800 GP 5400)	18/05/2011	Yes (Exp=18.6 years)		
	•		Learni	ng Resource Centre (Libr	ary)				
26.	Mr.Mukesh Pathak	Assistant Librarian	32	M. Lib, PGDLAN	(15600-39100 GP 6000)	05/08/2011	Yes (Exp=9.7 years)		
27.	Mr.Dhirendra Kumar Padhan	Library Assistant	31	M. Lib	(9300-34800 GP 3600)	20/10/2010	Yes (Exp=6.8 years)		
28.	Mr.Pradeep Kumar Singh	Library. Atttendant	39	MA, D. Lib	(5200-20200 GP 1800)	05/05/2011	Yes (Exp= 9.10 years)		
		Student Infor	matior	and Guidance Cell (Adm	issions Divisior	ו)			
29.	Mr.Pushpendra Khandelwal	Coordinator- Admissions	39	MBA	(15600-39100)	01/11/2012	Yes (Exp= 8.5 years)		
30.	Mr. Anshul Sharma	Assistant Coordinator - Admissions	36	MBA	Rs. 25,300/- Consolidated	20/01/2012	Yes (Exp=9 years)		
31.	Mr. Rahul Dutta	Counsellor	27	MBA	Rs. 16,000/- Consolidated	24/01/2012	Yes (Exp=4.5 years)		
32.	Mr. Manu Mayank Dadhich	Counsellor	26	B.Com, PGDM	Rs. 21,000/- Consolidated	06.04.2012	Yes (Exp=2 year)		
				IT Centre					
33.	Mr.Vikrant Sharma	Systems Administrator	31	M. Sc. in Computer Scince	(15600-39100 GP 5400)	16/05/2011	Yes (Exp=8 years)		
34.	Mr.Mahendra Kumar Kumawat	Network Assistant	27	BA, MCSA, Junipher Certification	(4440-7440 GP 1300)	16/11/2011	Yes (Exp=3 years)		
				Estate Section					
35.	Mr.Surendra Kumar Pandey	Estate officer	44	Diploma in Marine Engineering	(15600-39100 GP 5400)	14/07/2011	Yes (Exp=22 years)		
36.	Mr.Prashant Singh	Supervisor	24	B. Com, Diploma in Auto Cad	18000/- pm (consolidated)	20/09/2011	Yes (Exp=5.5 years)		
37.	Mr.Mahendra Dhanka	Plumber	25	Higher Secondary	4440-7440	05/12/2012	Yes (Exp=1.5 years		